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Candidates are advised toread all 15 questions Y3 BzE, R S 15 6 27 cortes cueaes

in each subject of Section B before they start 10 5 erem Tan T firs =)
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1 In an ideal transformer. the tums ratio is —— = 3
Ny

The ratio 17, I'pis equal to (the symbols carry
their usual meaning) :
2:1

) 1
3) 1:4

2
4 1:2

A tightly wound 100 turns coil of radius
10 cm carries a current of 7 A. The magnitude of
the magnetic field at the centre of the coil is (Take
permeabil;
(1) 44T
3) aaT

ty of free space as 47 x10~7 SI units):
44 mT
(4) 44mT

In a uniform magnetic fi

eld i
needle Performe 20 0f 0.049 T, a magnetic

S seconds as sh complete oscillations in
ow S
needle is 9.8 x 1(‘,:1-6—[‘}1'E= moment of inertia of the

2 .
Magnetic moment ofkg m<. If the magnitude of

the needle is x x 10-5 2
then the value of x* s - oA

A wheel of a bullo is ' |
ullock cart is rolling op

road as sh?wn in !he figure below.glf itsal!:;z:}r

speed is v In the direction shown, which one of

the following options is corr

- eCt(Pand are
highest and lowest points on théQwh::{
respectively)? e )

P
R

Point P moves faster than point Q..

Both the points P and Q move with equal
speed. : '
Point P has zero speed. .

Point P moves slower than point Q.

(3)
“4)
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1 q,’,f[; q”qnf ‘3”:."4(‘51245 (14 Hevlll “""j\‘"l', r X
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N
¥
orate ViV oeyst1f® Bl [HUAG B Az gy,
3 .rl . 5 [}
() 2:1 @ I
@) 1:4 L
) aiﬁrﬁ BE ﬂf‘ﬂi{.{'ﬁﬂ -kﬁ'fmf' At 10 cm .]
sgsteant 100] ofeto gAIz3g] TA| g
Sl (A HTAGEE N0 (I8 UBD BT L
-7 S[ a#4] :
e 410
(1) 44T (2) 44mT
3l 0,049 T s it owig asll (GIes .
5 ey 20 1B spef wrsE Al foary:
Em CGIcaE] S IAcEPd AE 0.8 x ]0_6 kg
A (SreeRn e 51 s x x 1075 A
za o6 ‘x’ ad A
) 2) 50x?
(3) 1280 @ 5=
4 4.5 cm @iy 3B sl ANwd B 615G
N2 93i Grterd orera 519 A1 TR ST
0.07 Nm! =t s1afoltrs wreroe (s Bt g
‘a )@R;f;;: AT HLNISE O WA
N (2) 198 mN
(3) 9N @) 19.8mN
S A CET g S ——
W BT Vel o fow 4Rfe B v am
Preed o izl s (P o O s s s
- BR R Rreg)? :
= . P R
o () P e Q 0 Qerctia O beles
(2) P wdz QYu Hupioie b
(3) P P s el
(4) P fuep O ed geeiin N e
2 [ Co
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6 Ifx= 55in(m‘ K ‘%]m represents the motion of a ¥ AR St mrartits g At nan
Imriiclc cxcculfng simple harmonic motion, the X = Ssin(m [ %}m ritar Ao TBa e o
amplitude and time period of motion, respectively, | 3
rc: CIETe B ILet 3116 L
. Sm.2s (2) Sem.1s (1 5m2s (2) Sem.ls
1) sm.ls (4 Sem.2s 3) 5m.ls (4) S5cm.2s
A bob is whirled in a horizontal plane by means 7 a#fs Pavis @i o@ o rpm Fio ﬁ‘gfl-bl'.'l
? of a string With an initial speed of @ rpm. The st wfb ogd AT A Ao OPo B
rension in the string is 7. If speed becomes 2 ® Ma T 1 uwe i 2@ Frg A a2 aies 6913
while keeping the same radius, the tension in the OgLE BIA Hiel MYIEA:
o becomes : .
e ' T (1) 47 2N
@ AT @ =+ _
) @) or @ 7
2T 4 T . |
- J_ 8 et wde 100 Q cAfiPse asf® ciAis
wire of length 7 and resistance 100 is 10 [ s1stiet wiset Fo® 41 =@l gam 5 b siemes @
8 A ded into 10 equal parts. The first 5 parts are ATARA @4 g 5 (B Sl AR ﬂ'iﬁ‘l'w yz
divi scted in series while the next 5 parts are 1 otl ST oo AT ) STSATAE ST
connected in parallel. The two combinations ars zoil @R @fyn AN @I A
conf! connected in series. The resistance of this Q) 520 ) 550
again vk
ation 1S:
fina co";fm @) 550 @) 60Q @) 260
52 ;
@ 60 ) 260 ' 0 wal® R 3B ALALE Yestm ¥ e Hor A
weolltd H1°G BH ©
9 A logic circuit provides the output Y as per the ol J
following truth table : BT
A|B|Y 001
0 (0|1 0(1]0.
0110 1 (01
110 (1 1 (1 [0
110 ; Y ad 9E =4
‘ = TR | _ _ . _
The expression for the output Yis : _ (.l) AB+A | @ B
(3) B . (4) AB+A4 :
| 10 o1a (N ETo-2r A TIPT SAILerd AP ALITOS AR
10  The quantities which-have the same dimensions i —
as those of solid angle are : - (1) Aver a3 G
8 s:rre.ss ang Englel ‘ (). Paafs @3s BI(EESd)
strain and arc
o AR o edz Ny
3) angular speed and stress (3) @k
@ strain and angle : . (4) Pgfs eas @
[ Contd...

R6_Bengali+English | | 3

4 | Pathfinder Educational Centre LLP, 47 Kalidas Patitundi Lane, Kalighat, Kolkata-26 & 033-2455 1840 /2454 4817 / 4668



Test Booklet Code : R6

Question with Answer Key

NEET-UG : 2024

PA'I'HFNDEIf

Where Aspiration Meets Success

i 1 H (7 (> ' e \ o

11 A thin spherical shell is charged by some S(‘JIIFLL‘

The potential difference between the two points
Cand 7 (in 1) shown in the figure is:

. | .
(Take ——=9x10° ST units)
0

nme

(2) 0.5x105
4) 3x105
12 Match List-I with List-IT.
List-I List-IT
(Material) (Susceptibility (7))

A. Diamagnetic L x=0

B. Ferromagnetic IL 0>y>-]

C. Paramagnetic ML % >>1

D. Non-magnetic IV. 0<y <€ (asmall

positive number)

Choose the correct answer from the options given

below: .
(@) A-I1, B-1, C-III, D-IV
(2) A-II, B-1I, C-1, D-IV

ii A-IV, B-III, C-II, D-I

A-II, B-1II, C-IV, D-I

13 Match List I with List II.

ListI ' List IT
(Spectral Lines of (Wavelengths (nm))
Hydrogen for
transitions from) _

A, m=3tom=2 L 4102
B. m=4tom=2 I 4341
C. m=5tom=2 . 656.3
D. m=6ton=2 IV.  486.1

Choose the correct answer from the options given
below :

@ A-III, BV, C-11, D-I

(2) A-1V,B-II, C-I, D-II

(3) A-L, B-ll, C-III, D-IV

(4) A1, B-1, C-1V, D-1II

RG__Bengali+English ]

12

13

- % 1 i s
anlt soal e enass oiBG Fdi a iy
wes vl a8, enaaa wsra-Cladt P (V) By iy
i@ ST '

(s i 9x|09 S units]:
dr e

2) 0.5x10°
(4) 3x10°

1 x10°
(3) zero

(1)

oifF=m -1 g-11 t71e71a

oiftrs1-1 eifs1-11
(s1naf) (g7 Afxol (1))
AL Toa s L. x=0

B. @ = . . 0>%x2-1

C. =sag=m m. x>>1

D. @-p=m IV. 0<x <€ (asf®
oot & AT HHM)

A% faaentfd Ries 3=

(1) A-L, B-1, C-I, D-IV

" (2) AL, B-II, C-I, D-IV

(3) A-IV, B-III, C-TI, D-I
(4)  A-IL, B-III, C-IV, D-I

oliE#1 [ 6 i 11 oreng
oiftr#t I . i 11
(iAo wide (©#=itnst (nm)
L 791 Yoded o)
A, m=3tom=2 I. 4102
B. m=4ton=2 . 4341
C. m=5tonm=2 L. 656.3
D. nmy=6ton=2 o IVe 486.1

A+ Toal® Ridive #

(1) A-II1, B-IV, C-I1, D-I

(2) A-IV, B-III, C-1, D-Il

(3) A-L, B-II, C-III, D-1V
(4) A-IL B, C-1v, D11l

[ Contd...
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14 Given below are two statements : 14 e, ofe
Statement 1 : Atomg are clectrically neutral as A Al ey e
they contain equal number of positive and Pesits 12 oy gpy “Ihe (Marqm 1am
negative charges, AN wa191 vy apgpgrn -arm..l .a.nr/,. Mt
Statement 11z Atoms of each element are stable Paafts 102 010 it sqguagon gm0 o
and emit their characteristic spectrum, ANyt arq0 1PN 240 2141 s opgsm,

In the light of the above statements. choose the

: a4 Laqitonanig oy,
most appropriate answer from the options given A 10,4 (4 ngrgs

Gaal® (UaMne 44

164 uisa

below :
(1) Both Statement I and Statement I are (1) Faqf T adr faqfts 11 555, oy
|Snci)rrccl. L (2) Fa4f6l 5154 Py Caqt ) g4
(2) Statement I is correct but Statement I is - '
incorrect. () Faqfts Ty Py Faqfts 11 1134
(3) Statement 1 is incorrect but Statement II is (4) Prafo T ade Foqf 11 432 af5s
correct.
Both Statement | and Statement Il are | 15  «#lB wanafo @as 98 aals 4itsg o 4%
EOMECt (Brewster) 1t @19flss z4l G
15 An unpolarised light beam strikes a glass surface (1) #fowfio sl 3394 ARABe 514
at Brewster’s angle. Then @) Bfowfio o a4t gRoAfao o 523, s
(1) the refracted light will be completely B Tp—
po}?ri;ed' flected and refracted light will be (3) =fowfic o T FHAYS 204 94x
(2) both the reflected and refracted Ii s e R ey
completely polarised.
the reflected light will be completely (4) afowiio s s Frbe =l
polarised but the refracted light will be
partially polarised. o 1
(4) thereflected light will be partially polarised. PP — [F] e S
A —— [_.,1_) E #Afgadel m=im (e ] 9% g e 7 goeny
16 The graph which shows the variation o 2 oretia)
" and its kinetic energy, E is (where } is de Broglie R
wavelength of a free particle) : . n
e - () 22 @
T
1 2 : @) z;
1(; E (4] : E 1 . " 4
@ ¥ @
1 T T
@ »| @ %/ G X £
T
W . N
: , _ 17 q@#1d s gan wiots afofa asfs s s
17 A particle moving with uniform speed in a circular ASmAIE TA:
path maintains : o (1) @33 v39
(1) constant acceleration. c T
(2) constant velocity but varying acceleration. (2) & AforAs Py sifradede o4 " _
varying velocity and varying acceleration. (3) stfgadea siibras ade stfyadela ool
constant velocity. 4) wAs siftats1
d...
R6_Bengali+English | - 5 [ Cont
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19

20

21

22

If'cis the velocity of light in free space, the correct
Statements about photon among the following
are :

A.  The energy of a photon is E = hv.
B.  The velocity of a photon is c.
C.  The momentum of a photon, p = ﬁ
c
D. Ina photon-electron collision, both total
= ell‘;f)l;gy and total momentum are conserved.
. On possesses positive ch
i positive charge. )
e]g?je:: the correct answer from the oPtions given
A, (B:, C(;:%d D only
» - and D only
(i) A,B,DandE only
(4) AandB only

a + - _
1?,2 thXe ;—-]-> Y__i-__> 7z P— 50
uclear emission stated above, the mass

r""—‘Spective[lly, ::: imc number of the' product Q
(2) 288,82

286, 80
(4) 280, 81

286, 81
In thé following cirens
g circuit, the equi .
between termina] A af;d tzgﬁ:;?gr;ts‘{apac Afdice

—
I s |

-—_oB

2pF 2;1';_'
(1) 1pr () 05uF
(3) 4pr 2 Wh

» The terminal voltage of the battery, whose emfis

107 and internal resistance 1Q, when connected
through an external resistance of 4 Q ‘as shown
in the figure is :

4Q
N w
L. 19
] [ edenntip——
-1 A— :
(1) 6V @) 8V
3) 10V n 4V

If the monochromatic source in Young’s double
slit experiment is replaced by white light, then

(1) there will be a central dark fringe surrounded

by a few coloured fringes.
@ there will be a central bright white fringe
surrounded by a few coloured fringes.
(3) all bright fringes will be of equal width.
(4) interference pattern will disappear.

R6_Bengali+English |
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20
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3ifig eI LT MNEAY ¢ 531 Gy, il
~ iy,
ANl - T,

A, (itted mi ad £ =hv |
prittard AT C|

B

hy
C. woibters Wi p=— f
D

(riBel-Bieta el LT GG My g, G
AdfFo 210 T,

E. Coitweld SisE HEems

s15a FaestiB Ri16a 4

(1) =g A, B,C w#:D

(2) 1w A, CeD

(3) TS A,B,DuwatE

4) =y Awa: B

4

8 “—P—,,
TS (wad RisHEE g Q gy Teleny
ool siguiTd A FANS A %
(1) 286,80 (2) 288,82

(3) 286, 81 (4) 280, 81

s GO A1 A 992 B Pregz mgy I Ay,
el

.
Ao— 2uF —o B
T
2pF 2uF
.(1) 1uF (2) 05pF
() 4pr 4) 2pF

@3B 1idifa ofyesrers 39 10V g3t wiwmd s
1Q @@ 4Q i i sis 3w i
HBNAA ey sretng W6

4(1‘
™ 7
.'"I-hiﬁ".
N LU :
) 67 @) 87
3) 107 @) 4V

i Rugna Pafea sifiwis a4 Ses i 9
ity sif3afde w41 23 ©E N
(1) @af® #ice smrEd) =S o or e o
s SIS NIl

a#lt Toge w43 #fe
ARest AIsI SGHT MIE
stpal Worel B (4 dHIel Al
A6 srssia Prganist oAl

o o st 40P

@)

()
“
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1.‘ A hotlzontal foree 10 Nls ||,|ll”l'l| lon block Ana | 23 Wb safies 4140 A g Hag 4 Al |0} 1 aggins an
ahOWI I B, s of Dlocks A wnd 11 iy A A1 01 404 f s 1 ng e ”"1’:1: _ b_'
2 mnd Yl vonpeg ”Vl'l,\f,'lh"l""' ko allde ovey A b | Ay g megiglina e Ma' :n §
n (rletlonlens surfiee, | e foree exerted by block i /| 4,:34, o Jnd W4 :1:-’-: 4'4 ”: -“ o
A on bloek / '

Iy /i
e 10N / AL
gL | m 2 by
2y PELIIIIIIIPPIIIIIIIIIIIIFIF I 7
JIIPEILIPLLIPEPIP IR PIFRLIPIII) (1) AN (2) 6N
{ny 1N oN 4 10N p
M 10 N (1) zero ) )

s A disg sensid abcda basea u s o4

A thermodynnmic wystem Is taken through the | 24
[t 8810 Jrer 91t AR1AA A4l 425410004 W14

4 eyele ahedin, Ve work done by the g nlong, the
path he In i )

' 4
A r A0 kPa} = = =
A

Il..p-ll -—---ﬂ b
!00 A lwkp ...'a J'J
]
Im”""" n——}-——-—.!} | ] >

=
~
Q

-

i ! g | =
i : i " 100 ¢m 4;’113;1
AN
100 om V*,—u-‘;l (1) 307 2) 90
(3) ~60./ (i:)) sero

[ m'shd aalt Boud ol A BA14q 24

jo maximum elongation of u el wire e o1t Biiord aftorarad Ay adr Bats gAre ANAL

8 ic limit of its Young's
i the elostic limit of steel and its Young i o Wi
lm:’fillllillm ::mpcclivcly. are 87 108 N -m 2 and 8710 Nm2a2710 m 2 a3)
2“" 101N m 2, v (1) 0.4mm (2) 40 mm
. (3) 8mm (4) 4 mm

(1 04mm
(3) mm

2) 40mm
@ 4.mm
The output (¥) of the given logic gate is gimilar

(o the output of an/n :

A—1 : y

26 wuma aftna Adilie G (§) A4 Al GeMing

20 WA

A—1"] v

b
b

1) NOR gate
AND gate

27 “Two bodies A and B ol same mass undergo o
completely inelastic one dimensional collision.
The body A moves with velocity vy while body B
is at rest before collision, The velocity of the

(2) OR v

(1) NOR s _
(4) NAND s

(2) OR gate
(3) AND A

(4) NAND gate

ogof ot wedd yft Aoy A wde B saomd aaanios ol
fc;:w:m-f- s firma a2l Mesiesrd id A ad Aot
yy @y B Barad vt il el Mtd &P vlad
Aot vy | vy 1 vy €B, VlgHILEA 3 Al

system afier collision is vy, The ratio vy i v, is :
@ 23] 2) 41 (n 2:1 2) 41
1:4 ) 1.2 3) 14 4 1:2

R6_Bengali+ English | 7 [ Contd...
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28

29

30

Consider the following statements A and B and
identify the correct answer :

A. For a solar-cell, the 1.y characteristics lies
in the 1V quadrant of the given graph

B. In a reverse biased pn junction diod.e, the
current measured in (u4), is due to majority
ch:}rge carriers,

A is incorrect but B is correct.

Both A and B are correct.

Bqth Aand B are incorrect.

A is correct but B s incorrect.

(1)
(2)

_
P E

Solenoid - 1 Solenoid -2
In thp above diagram, a strong bar magnet is
moving towards solenoid-2 from solenoid-1. The
direction of induced current in solenoid-1 and that
in solenoid-2, respectively, are through the

directions:

(1) BAand CD

(3) BAand DC

Given below are two statements: one is labelled
as Assertion A and the other is labelled as
Reason R. S
Assertion A : The potential (V) atany axial point,
at 2 m distance(r) from the centre of the dipole

AB and CD
AB and DC -

-
of dipole moment vector P of magnitude,

4x106Cm,is +9x10° V.

1 9 .
=9x10 T
(Take - co - ) SI units) | |
Reason R : V=% 27 5, where, r is the
. 411:60?‘ .

distance of any axial point, situated at 2 m from

the centre of the dipole.
In the light of the above statements, choose the

correct answer from the options given below:
(1) Both A and R are true and R is NOT the

@ correct explanation of A.

A is true but R is false.
A is false but R is true. _

(4) Both A and R are true and R is the correct

explanation of A, :

R6_Bengali+English ]

28

29

30

s (e st (A6 A ade B sphitsiine 4, v
Y ra16a A4 "y

A. ensnd witea st -V o tanfbiag [y A5
iy

gl

B. pn ST PO 211610 stanr 314y,
n iy

O IS AT AN St sy 5

Le

(1) AgaBaAls
(2) A aa:BYwxa afss
(3) A w@4:BYw@xR g4
(4) A#fs By
- - =2 - =
AR i
p 15 . 1
et NY-1 HEETAG-)

grg 61w a3f® E1dN ey e ALy,
(E MANINT-2 9d NF A6 zal apy
ofyesrE® 91 AfHetNG-1 a4s A Ew-2 o gy
41474 ©f =291 :

(1) BAw€azCD (2) ABwa:CD

(3) BAw3atDC (4) ABwa: DC

1. 5f% Bl e e 93fS Rretmfy A o

o= 3131 R,
RrsaiFA: 4 x 107 C m Pratars sas Rif5 Ry

=2 .
P @& (nF 2 m 5Ew (r) WwiE afisn fegs
Rrowa (V) s £9x10° V1

_ 9
i < =9x10” g aps wear]

2P
1R : V:i_—-—2 (I r =ol (@
dregr

e wfien e gEe (9 e @d
2m 5t w4fao) :

Werad Rigfonaad SNl Ricsa Riwstoyfi (e 359
Yol Rieel $4:

(1) AwasR 58 2 aifss g3t R, A ad a3 a0
aisl
(2) A+ fag Ry
% 5%
8; ii:{i‘iﬁ;’; s+ w4t R 2st A s
i
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3l

32

33

34

35

At any instant of time 1, the displacement ol any
article is given by 27— 1 (SI unit) under lh‘c
influence of force of SN. The value of

instantaneous power is (in ST unit):

5 ) 7
o @ 10

3) 6

In a vernier calipers. (N + 1) divisions of vernier

scale coincide with N divisions of main scale. If
&

| MSD represents 0.1 mm, the vernier constant

(in cm) is .
@ T()-(;(_;‘T;T)— (2) 100N

1

—_

@ Ton

) 10N+1)

of inertia of a thin rod about an axis

gh its mid point and perpendicular
2, The length of the 400 g

The moment
assing throu
to the rod is 2400 g cm

d is nearly :
: ®

1) 17.5cm
3) 72.0 cm

ht ray enters through a right angled prism at
angle of incidence 30° as shown

Is through the prism parallel to
along the face AC. The

20.7 cm
8.5cm

Alig

oint P with the
in figure. It trave
its base BC and emerges alon;
refractive index of the prism 1s:

The mass of a planet is -I-la th that of the earth and
its diameter is half that of the earth. The

acceleration due to gravity on that planet is :
(1) 98ms2 (2) 49ms?
3.92ms2 (4) 19.6ms™>

R6_.Bengali+English ]

3

32

33

34

35

SN Atatg srana 1 tebtet aft 4
.l-‘{;.-] My 2f 1

(STadit) Gremirn saerg s 74 (STatrn),
(h s (2) 7

(%) 6 (4) 10

SR 31 a4l

9B @R sl s (V 1) @ifiana s
N 3z sma s Bua il aaf® WA AL 1ot
0.1 mm =eat s5fba @IRGNY #1040 061 (cm) :

(N (2) 100V

100(N +1)

4y ——

LG 10N

€)

a3l w# weya AREEE ads neod S S
SALHEEE SIYT GIAGHd Ma 2400 g cm?l 400 g s
& Rrewd AR HIN: '

(1) 17.5cm
(3) 72.0cm

(2) 20.7cm
(4) 8.5cm

fswd ang aals SEnFafa 30° SHod e a3t
sl reaa P Repe aisifs 231 Rreard food
aPafs gl BC ad SIS 619 6 DAFIA AC st
ot =31l Browad Fied Afovaid A

B
(D —2\{2— 2 T
J5 s
3) :g 4) Y

axlS srxa w9 sfANT wEd .110- a1l @ @i A

syfafa AN AW Rl g e SfFNN P

AoE .
(1) 9.8ms™ (2) 49ms :
(3) 3.92ms> (4) 19.6ms™

[ Contd...
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Physics : Section-1 (Q. N, 36 10 50) ]

3¢ 'I"hc‘ Pl‘upcn_\‘- Which is not of an electromagnetic | 36 =1 At G R BAICTE SR A Aty
:‘I";\ tl:l‘il\"ellmg in free space is that : 1 giwanfs ol® 22 :
1 e energy density in electric field is equal (1) ofye (smtasd IH 1A 15148 Lmegy .
O energy density in magnetic field. J— .
(2) ﬂ'lc)' trave| with | |
’ aspeed equal to T——. S
they origir \J.PU €0 (2) w1 A AR B 1 = m
unif; ginate from charges moving with
orm s
() they are trameverce: (3) s A oA G108 o 5
Y are transverse in nature, 4) oz ailin
37  The velocity ) —ti
body j ) —time (1) plot of the motion of a
Y 1s shown below : 37 gaf® afteNa g4 AR (v) — Ay (1) o
™ (AN DI :
£ =
2 v
1\0 £
-
1s) - To
E:: acc:t 1el‘a'tion (@)~time (7) graph that best suits 1) —
mo .
oS o ga9(a) — AT (1) efbuld =g -
aM
g ‘F:']\ . : ~ :I‘:A
3 & | £ g
o ® T ~=
gl::/\ :I:';-sn f" e-l:"‘l“
5 RN £ £
T 1 X 1 3
38 A metallic bar of Young’s ‘ modulus, " 2
0.5 x 101 N' m~2 and coefficient of linear thermal | 38 0.5 x 101! N m~ Rz ms_f:fh? SRR
expansion 1075 °C1, length 1 m and area of ALy d LAl Boi1at alied 2 10‘3 C; | 2T 2
cross-section 10~ m2 is heated from 0°C to 100°C 1 m @4 gsarsaed 3Fg%e 10 m? & 0°C
without expansion or bending. The compressive 100°C @ &= 1 =@l §ANS #AEd 932 figf o
force developed in it is: ' ALHI6e qteid A ' )
50 x 103N (2) 100x 103N (1) 50x103N  (2) 100 1¢°N
(3) 2x103N @) 5x10°N (3) 2x103N (4) 5x 103N
39 If the mass of t.he .bOb 'in'a SImpIS penflul]um I;‘ 39 aafs wFe e Preovd wd Al o T
increased to thrice its original mass and its lengt 241 7ol ade oftd s A s ol o
is made half its original length, then the new time ;
X ]
o a e s P ANE = oo e IO
period of oscillation is % times its original time wiftsa careieiret atial > 1
period. Then the value of x is: PRERICH J—
@) 2 @ 243 I V2 @ 23
3) 4 @ 3 3) 4 @ 3

[ Contd-
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Choose thecorreet circuit which e achieve the

40 1 . i 4 l ¥ 3 alys L]
pridge balance. : 0 i a6Myfieg caraft B 4t 110 1.
2)
@ J—0
E ok
g Aforce f:leﬁﬂed-b}’ F=or? +pr actsonaparticle | 41 a3 26t F = 2 +Br reeit aai® s 1o a6l
at a given tl.me t. The factor which is il 13 FE1 #El A o @A B was mn o
dimensionless, if o and B are constants, is: o el MR xE i
ot/ - '
@ A ) opt M %% Q) opt
of Bt o t
o @ P @ B/ ORLA
42 Aparallel plate capacitor is charged by connecting | 43 @l s 1o WA s e s sl
it to a battery throu_gh aresistor. If I is the current A
in the circuit, then in the gap between the plates :
displacement current of magnitude equal to SR STISSHE Sl )
I flows in the same direction as I. (1) T foarsia g [ ad aifeges #aifko =@l
(2) displacement current of magnitude equal to (2) 1auted FoasEa garm 1 ed fFsdlo aifegs
I flows in a direction opposite to that of I. S pafxe T@El
(3) displacement current of magnitude greater (3) 1ead cav () Rsatistel A1, @il wiRases
~ than I flows but can be in any direction. it meAl '
()= Cherchs o AR (4) e e a4 49 @il
43 Aniron bar of length L has magnetic moment M. | 43 . [“taxt w3 M 5 mius s a3is @il meos
It is bent at the middle of its le_ngth such that the AT @I AT 7561 N1 5 AT ST et
‘two arms make an angle 60° with each other. The a1t 60° =l
magnetlc moment of this new magnet is: o oot & P,
M
— 2) 2M M .
@ 2 \() (1) > 2) 2M .
M
() Ny 4 M M
V3 R OR “4) M
4 The minimum energy required to launch a satellite . e _ :
of mass m from the surface of earth of mass M | 44 .M ©3 €3 Ranwinsd &7 =5 (d m wiad aasf.G
and radius R in a circular orbit at an altitude of Aogi S 155 (it 2R Teooid aBd Fw s
2R from the surface of the earth is: FAE AR (7 S STasE Ol [e;
2GmM - GmM 2GmM GmM
0 3 @ T2z 1) 3z @ 3z
GmM 5GmM - S5GmM
®) =Sz . @ ==
3R 6 R ) 3R 6 R
i ) : ontd...
Rﬁ-Beng?h"FEnglish ] _ 11 [C
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45 Ifthe plates of'a parallel plate cnpncilurcmmcclcd
to a battery arc movedl close to cach other, then

the charge stored in it, increases.

the energy slurm.i in it, decreases.

its capacitance'inicreases. :

the ratio of chatge (o its potential remains the

same. (N

. the product of charge and voltage increascs.

Choose the most appropriate answer from the

0 110;1\5 viven below:®
(s ! JD ;Cand E only (2) B, DandE only
A, B and C only E4g A, B and E only

46 The following graph represents the T-V curves of
an ideal gas wher?ej-l‘ is the temperature and V'
the volume) at thi¢e pressures P, P, and P
compared with those-of Charles’s law representea
as dotted lines.

/ 'R
V—
Then the correct relation is:
() A>R>P (2 B>R>PH
(3) JDI'>P2>P_7, H"‘g .PB)PZ}})I

47  Two heaters A and:E have powves rating of 1 kW
and 2 kW, respectively. Those two are first

connected in series’and then in parallel to a fixed
power source. The raio of power outputs for these

O cases Is:
@2:9 L gzg 1:2
2:3 e (4) 1:1

48 A sheet is placed on a horizontal surface in front
of a strong magnetic pole. A force is needed to :

hold the sheet there if it is magnetic.

hold the sheet there if it is non-magnetic.

move the sheet away from the pole with

uniform velog’[‘_cy if it'is conducting.

D. ‘move the shéet away from the pole with
uniform veloéity if it is both, non-conducting

. and non—polair_ )
Choose the correclﬁatement(s) from the options

' enbeloﬁvé Isis) (2) A,CandD onl
Aand Con and D only
@ C only & 54; B and D only
19 A smalltelescope has an objective of focal length
140 cm and an eye piece of focal length 5.0 cm.
The magnifying power of telescope for viewing

istant object 1s:
28 “ EZ; 17
32 i@ 34

50 A 10 pF capacitor isconnected toa210 V, 50 Hz
source as s%own in.figure. The peak current in

the circuit is nearl w(r=3.14): .
reuit is nearly{ =3.14)

(Y]
P

10 ¥, 50 Hz
@ 0.93 4 (2} 1.20 4
0.35 4 (4) 0584

Onw>

vyl

oWy

R6_Bengali+English ] 12

45

46

a7

48

49

50

(1) myaw Awd:C é3:._,‘(2)

stfity afB st A1 1 WAL HIGHRT AT iy
| a3t @dr aind AL S AR Al 3, g,
gt OnEel MDA AIYA -
I E R LI G (G Y
yla4® YL
wsla @ @i e a1 440055 91404
> appstrer 6 P4 Jetivo A1y
Praostofer (04 HiBH Ta fhbad b
(N qspngA, CumE (2) ~ne B,Daq |,
(3) TS A, Bua:C q4) apafati A, B |,
sy (a1 fle]fo @ DNae sl T-V @4 tafbg
T =t GIHAIQ] adg Vg priaod a4 Py, Pyatp.
Bls1d el s DI AL GBY ABAYPH by,
e wfebe 1 E;:{wr.&:l G B WA Hf3,

ollel

com>

m

514 ?;H;:z L* () A>A>h
H é;éz G) A>P>P
i @) PB>P>h

A @t B it o1 xn;iaj“&énm Aonaeat | kWad: 2 kw
apTa @A Cel AL @A DI AAGAIE i
azft Rifes Tewia sieal yF w41 Zel 92 53 g
WGl AARNED DGAISIRA:

1) 2:9 {5 2; 1:2
53; 2:3 { 4) 1:1
a#fd olgghis o aFl® GImE Al AR ad: ol
St 9IS SR paekb (7 ASHIEA| Ot a3 ey

AL - .-
A, & sl g o 31k @R emalb gy

- gre =3l _
B. <& smaf®id NARAIE A0 g% 913 eI

ol 23

C. ot o3 =(fBLaet (7 (At ol A sl
ufh bial® sifzail =l

D. xufti a% aqe-peuifgeads oAl 23 Old bl
Hxu AT N1exA sl

Ricsa Faestefin (20 gifps Todlb (0= @

: 5 A, Caa:D

(3) wyww C T (4) "gwe Bua:D

9F® it gadler A fsIenE @i wat 140 cm

@4 wiforiwd eI et 5.0 cml A DG el

afalta Fage ol 2

& 52 @ 3

217 o@Iepailcd @l 10-fF was aaf® 210 V. 50 Hz
Bewid oIt A A1 a3 e Ao W
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oklet Code GUDRI This Bookletcontains 48  pages.
T HATES EeTwefien 48 Doprwnx
s s

Do not open this Test Booklet until you are asked to do so.

et enenm o @2 @i Yo =

Read carefully the Instructions on the Back Cover of this Test Booklet.

— | a2 #SrwreifEem orm o awe Rteat o SR i
!mpart(mr Instructions: GWQ“/ ﬁ?’r‘ﬂ?ﬁ} . ‘ s

1. The Answer Sheet is inside this Test Booklet. When vou Ty e e e T TR | THF IS A==l
are directed to open the Test Booklet, take out the Answer | 1 78 71 [EFE (SSE TS (7Sq =R | '

T
Test Booklet No
i@t sfkeeia et
BENGALI+ENGLISH

Sheet and fill in the particulars on ORIGINAL Copy s cxre v (rent 207, Soeeraf (3w I WS w3
carefully with blue/black ball point pen only. @g wre fRarRd T3 simene  afRHRR e wyww
2. The test is of 3 hours 20 minutes duration and the Test Booklet Ma/=wen 97 *w s == % G MERE A

contains 200 multiple-choice questions (four options
with a single correct answer) from Physics, Chemistry |2- #RPHTR TG 3wt 20 Muiina9e 30w o ot

and Biology (Botany and Zoology). 50 questions in TR €32 S Fme (S e mdifem) Rewe
each subject are divided into two Sections (A and B) 200 G wafResin uy wicm) (9ol o= Soa-7ifEe v Res

as per details given below : =rarR) wrETE fEm T e
(a) Section A shall consist of 35 (Thirty-five) Questions SRSA[TCHR), Pl = pY o, " ‘

in each subject (Question Nos - 1 to 35, ‘fﬁﬁ 8 (A 932 B)-9a S 1 W
61 to 85, 101 to 135 and 151 to 185). All questions (a) Yo A= a2z farg 35 6 ery (2rg w12e9m - 17373 35,
are compulsory. -

(b) Section B shall consist of 15 (Fifteen) questions in ull SHEF v ].Dlatﬂiwf RAREES SRy aa)
each subject (Question Nos — 36 to 50, 86 to 100, 136 TR | R X :
to 150 and 186 to 200). In Section B, a candidate (b) ¥e BT 2rerw’ fauey 16 i e (org Seam- 36 T2ta 50,
needs to attempt any 10 (Ten) questions out of 15 86 TITT 100, 136 TUTH 150 992 186 TAT 200) TCZ |

(Fifteen) in each subject.

Candidates are advised toread all 15 questions Y3 BzE, R S 15 6 27 cortes cueaes

in each subject of Section B before they start 10 5 erem Tan T firs =)

attempting the question paper. In the event of a * 3w Tewa Boot crew T (0 ojafETE SEa crewma LS

firat ton questions answered by the candidate | Y9 B¥ 72 15 2 o503 3% comn i s e

shall be evaluated. it wvea $ea o wrmes +ArwIdE 9| SRS daw wiih
3. Each question carries 4 marks. For each correct response, AT IR TR w0 A

the candidate will get 4 marks. For each incorrect |3 ofy s e 41 wrrers s B Saran wy ~Arw@

response, one mark will be deducted from the total ¥
scores. The maximum marks are 720. 4 TR LA ATEIS AR A SGLAA Tl | | o

4. Use Blue/Black Ball Point Pen only for writing =01 T | e == 720 | ,.
particulars on this page/marking responses on Answer |4 % PR Twred) AR @ STAEE T W P
Sheet. TGS elLr) e

5. Rough work is to be done in the space provided for this T2 TG T TLR IR I@ | .

‘purpose in the Test Booklet only. 5. WY T e FriTrs 1 2Te $a0s @ |

In case of any ambiguity in translation of any question. English version shall be treated as final.
mwﬁmmﬁa@w,%@%wmmmm, A |
Name of the Candidate (in Capitals) : —=
1w It W (IP 29 - _ »
Roll Number :in figures , ;'_ -

i y7 - LT
:in words

+ *[H
Centre of Examination (in Capitals) :
AT (IP TD)
Candidate’s Signature: Invigilator’s Signature :
MEIRIEE , v ares
Facsimile signature stamp of

Centre Superintendent: ) ;
% Gl afoat O (IRA AT,

6_Bengali+English ] ) . : [ Contd...
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g@ : Section-A (Q. No. 51 t0 85) |
The compound that will undergo Sy' reaction
51 ith the fastest rate is

v (" © @ur

CH,
~J

@O o O
-

The highest numberg( helium atoms is in

l_n}
52 ) 4 uof helium
@2) 48 of helium 7

2.271098 L of hielium at STP
4 mql of helium
g I which of the l‘o{]ﬁ‘éwing processes entropy

= increases?' e

A A liquid evapordtes to vapour.

B. Temperature of @lcrystalline solid lowered
from 130 K to 0K _

. Clyy ™2 iy . r
Ehoos%[ﬁ!ne correé%)answer from the options given

pelow: : _
(1 AB and D @
@) CandD (@
54 Intramolecular hyd(r%%}en bonding is present in
. N B .
) Ho/g 87
NO; {4}
® @/ e

HO
(3) HF

NO,
L, &
OH i0

A,CandD "
Aand C

55  The energy of an qgctron in the ground state .

(n=1) for He* ion is=x J, then that for an electron
inn =2 state for Bé>* jon in J is :

A
(1) —% B(2) —4x

o
«.,“E :

6 The E° value for th%_%Anj*'flvszr couple is more
positive than that of€r3+/Cr2* or Fe3*/Fe?* due

(3) —g—x

to change of 00

1) d*to d? configuifation
d4 to d5 configugation
d3 to d5 confignration

4) 5o q¢ configuration

Ré . ,
Bengali+English | | 13

52

57

53

56

. =iEAE (J) A6 7id

1 1 5 R
LA ot it S, ) i spmer .

n <:>—Hr (/, @r“r

CH,y -
(3) @Aﬂr (4) O/\m ‘

AN Seana Risnm !4—:;::11 (BN IR T2 (A7
(1) 4 umfEnm "’
(2) 4 g -
(3) a@ma 5191 8 GG 2.271098 L iZfRzns

(4) 4 cna Byam

d6a (@1e swafore a%’é’m gt stz ?

A, axit ol awﬂiq%zﬁ%n

B. @i si6 spyiard ol 130 K e
0K o @ s 23

C. 2NaHCOj;(,)—>NayCO3(5 + COyg) + HyO(g)

D.  Clg =2 Clg)

s zna fHaeef e a5 Yo FHee Fa

(1) A,BuasD (2 A,Caa:D

(3') Cugs D Zg.) A uaz C

TIRAIHS FBLTICETE FoHe) TOHE S

NOLD
0 I

NO, o
0 QY™

(3) HF o

NO;  yq
) Q:OH o

gitwod w" (n=1) T+ onswra Ruashea =R
—x J | n=2 % Bef fonntea waf® Rraser _

i
X

) -3 (2) —-4x
4 1
@ g% W -x

Cr3*/Cr2t atFe3*/F ez%% etetist Mn3*/Mn2* spstteia
E° w6l oifiaod seisid] fji AiEEsEE @l of BIAtH
(1) d° cata d2 Fenst{ 3

(2) d4 et dS et

3) 3t d3 Rt
(4) - d5 caww d4 R
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57

59

R6_Bengali+English ]

A compound with a molecular formula of Cglly,
has two tertiary carbons. Its IUPAC name is:
2-mcthylpentane
@ 2. 3-dimethylbutane
) 2.2-dimecthylbutane
() n-hexane

Given below are two statements:

Statement I : The boiling point of three isomeric
pentanes follows the order

n-pentane > isopentane > neopentane
Statement IT : When branching increases, the
molecule attains a shape of sphere. This results
in smaller surface area for contact, due to which
the intermolecular forces between the spherical
mqleculcs are weak, thereby lowering the boiling
point,

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1
@)
3)

Identify the'correc‘; reagents that would bring
“about the following transformation.

{ )—cH,-cu=cu, - - |
{_)—cH,-cH, -cHO

BH,

Both Statement I and Statement II are
incorrect.

Statement I is correct but Statement II is
incorrect.’ \
Statement I is incorrect but Statement 11 is

correct. .
Both Statement I and Statement Il are correct.

@ o
(ii)
(iii)

2. ®
(i1)

/e
H,0, / OH
PCC '
BHj;

[S]

H202/ OH o
(iii) alk. KMnO,
Gv) H30e
(i) 'H,O/H*
(i) PCC -
4) (i) H,OH*

(ii) CrO,

3

57

39

14

Collyg MALEE S 15121 w4 fB i gin
GONLE Al deaies] ad TUPAC #1131 241

(1 2-f NEIEL A (e

) 2 3o BBt it
’(3) 2.2-w B IHANIB A e
(4) n-czestat

e g5 P14fs Fres:

fefs 1 Roal® soticgs ciecbiard sydati=s o 4
efiaer 4 Ol A

N-Gs1ESe > SRS ES > Rigisiasa]

feafs 11 : =aistel A1, a4i® @] ollalird .,
y1gal HL 9 WLa AT Gleld (SHhQwel Bl 313 7.
GHEFIHIS DRI WA ABAINTHS 49 5 53 .
spoeIs e 2l

Oseaa fagfs sigead oS e dng Frapesip
tae 1%+ Tod fhiee 4.

(1) Fafs [ a3z Pl [19ems ge

(2) Fafs [ ey FEis 1T ge

(3) Pefs 1 gat Prg Rl 11 5

(4) fafs I aas Fgls 11 Yoz s+

I

At dwsstad Selt AT AHas Ayz Bise +:

D— CH,-CH=CH, >
O— CH, - CH, - CHO

(1) () BH,

Gi) 1,0,/Gh
(iii) PCC

) () BH,
G 1,0,/
(iii) @ KMnO,
(iv) H,0®

3) (i) H,OH*
(ii) PCC

@) () H,oH*
(i) CrO,

| Contd..
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which plot of In k vg JI- is consistent with
Arrhenius equation?

N
= =
m L @ F
R 15
1 1
= -
@ :E" 1 ) — T
T T T
61 The most stable carbocation among the following
is:
CH,
& ¢n
SN 7
(1) cH, cH Ly
&,
o [
CHs
CH,
e () HJC/\gH CH;
ist I with List II.
$ Mat](_:,]i]slt‘l[s ’ List IL
(Pmcess) (Conditions)
A. Isothermal . No heat exchange
process _ '
B. Isochoric [I. Carried outat
process constant temperature
C. Isobaric [1I. Carried out at
process _ constant volume
D. Adiabatic V. Carried out at
process constant pressure
Choose the correct answer from the options given
below:
(1) A-1v, B-II, C-I11, D-I
2) A, B, C-lII, D-IV
A, B111, C-1V, D-I
Y A-IV, B-111, C-I1, D-I
15
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60 Ink =y + adt e Enfbei® enans2ons s
' Hiom 31&1[{5,1,{?
il : L
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o @I
- =
N o
E :
3 @ =
T I
61 ANesa w1k P FENFBINE 26
CH;3
. o
C g
49) CH; "CH, &u,
' ®
o [ -t
CHy
62 oif# [a 7S syruftog el oif#t 1l @ 7S ~yfE
O] l
wifti#t 1 -:slif‘.-ml
i t5)
A (P
A fnm#a q'wﬂrt:i . oustd fkm ax Al
B. HINHEA I RifeS oA
- SAuyf o TN
C. wmsil 1L RS SINeE
. a8 Hes(ifho TN
D. o) V. Rif®S st
. susf5 Wesfhio ’N
Qs o Al W sy O Rraned 3
(D A-1V, B-Il, C-Iil, D-I
2) AL B-II, C-I11, D-1V
3) A-lL B-lII, C-1V, g—}
- -111, C-11, D-
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63 Match List T with List 11, 63 ot [ ad st Gl 1] o
List 1 (Complex) List 11 (Type of ot | ST
) - i.“itll‘l'l(‘l'ism} ("ﬂﬂ‘mﬂ"ﬂﬂ ) (H.ﬂr"j_ﬁm ?T‘H?-,,
A [ Co(Ny) (NO,) |c . Solvate
L 3s . ] 2 ' . A. [C"(N“ft)s(m)z)l“z L a4 5y,
iIsomerism ’ 3
B. [Co(nn,) (so, )] Br Il. Linkage B. [C"(M 1), (80, )1 Br L ey,
_ isomerism
_ '. C. [CO(NFI3)6] [Cr(CN )6} M1 Spsporen
& ﬂc"(“‘*s)ﬁ] [cr(eN)] L. Tonization
. . 3o
) isomerism
1 :

D; -CC_'(H2O)6]C13 IV. Coordination D. [CO(HZO)61C3 V. ey Aotz
Ch , isomerism Ao v P11 (10 515 Taa Ry .
belgt‘ietw correct answer from the options given (1) A-L B-II, C-IV, D-I
(1) A-L, BI11, C-1V, D-IT (2) A-I,B-IV, C-I1I, D-I1

(2 A, BV, C-I11, D-11 (3) A-II, B-IV, C-III, D-1
(3)  A-IL, B-1V, C-I1I, D-1 (4) A-II, B-III, C-1V, D-I
@ A-IL, B-I1, C-1V, D-1
64 1 gram of sodium hydroxide was treat d with 64 25mL 0.75 M HCI 54t1 1| g muifvsyy 213713
. 25mL of0.75 MHCl solution, the mass 2: so;;r - PP G AR P 2Rz Pl
- hydroxide left unreacted is equal to um A4 (0F Presicas
250mg " (2) Zeromg (D) 250mg @) i mg
%) 200 mg (4)) 750 mg (3) 200 mg 4) 750 mg

65 Which reaction is NOT a redox reaction?

_ 65 e Pasafs srme-Riemae Rk ax 0

1 IEE

(2; i{ff ](% -:22_1)-1(321 b () 2KCI0;+1, - 2Ki0; +
BaCl, +Na,SO, — BaSO, + 2 NaCl (2) H,+Cl, - 2 Hl

(4 Zn+CuSO, - ZnSO, + Cu’ (3) BaCl, +Na,SO, — Baso, +2 Nac|

(4) Zn+CuSO, > ZnSO, + Cu

66  For the reaction 2A=B+C, Kc =4x1073, At a- e

given time, the composition of reaction mixture | 6  2A=B+C Rifsuifsa K =4x107| coran s

is : [A] = [B] =[c] ='2X 10—3M . ' Bt HATH ﬁml-mﬂ(‘ia W%’iﬁi

Then, which of the following is correct? [A]= [B]=[C]=2x10"3M.

(1) -Reaction has a tendency to go in forward -
direction. OIxte Aleba @FreEls ads 2

@ Reaction has a tendency to go in backward (D) Rl stsgad zam aaer e
direction. ' '

i (2) PlplSE s1v6104G = stet01 o0
(3) Reaction has gone to completion in forward

direction (3) RS guad e asyer aeasl
(4) Reaction is at equilibrium. (4)  REnis st

R6_Bengali+English ]
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67

A. NH;3; I

D. SFs

69

0

n

Rﬁ‘Bengali'*'English ]

. orrect answer from the options given below:

Match List I with List 11,
List I List 11

(Shape/geometry)

Trigonal Pyramidal

II.  Square Planar

. Octahedral

IV.  Square Pyramidal

Choose the correct answer from the options given

pelow:
(1) A-ILB-IV, C-IIlL, DI

@2) AL BV, C-, D1l
) A-ll, B-IIL, C-IV, D-I

3
A-l, B-1V, C-II, D-111

On heating, some solid substances change from
solid to vapour state without passing through
liquid state. The technique used for the

urification of such solid substances based on the

ove principle is known as
Sublimation (2) Distillation
Chromatography (4) Crystallization

‘In which of the following equilibria, Kp and K,
are NOT equal?” s

(1) Hygpt g = 2Hlg

@) CO@ +HaO@ = COxg + Hyg)

3) 2 BrCl(g) — Bl’z(g} + C[2(g)

PClsp = PClyg * Clag)

Among Group 16 elements, which ori_e does NOT
~ show —2 oxidation state?

@ Se (2) Te

Po- 4 O
Given below are two statements:
Statement I : The boiling point of hydrides of
Group 16 elements follow the order
H,0>H,Te > H,Se > H,S.
Statement II : On the basis of molecular mass,
H,0 is expected to have lower boiling point than
the other members of the group but due to the
presence of extensive H-bonding in H,O, it has
higher boiling point. . '
In the light of the above statements, choose the

(1) Both Statement I and Statement II are false.
(? gtatement I is true but Statement Il is false.
@ Btatement lis fa_lse but Statement II is true.

oth Statement I and Statement II are true.

17

67

69

70

71

CHEES I |
( L)1)
A. NI'J |_

B. BrF; 1.
C. XEF4
D. SFg

Gl 1 ad st Gifda 1] arme
siftsr 11

(M3 / eaniPafts)
fiotblitrn
Praifierpits
G ALRGIB14
BIEBGa

151 Panfihrorgits
Ane 27T Aaests)fén tanias 15+ Yo RiAieer #4:
(1) A-IIL, B-1V, C-III, D-1

(2) A-II, B-1V, C-I, D-1I
( A-II, B-III, C-1V, D-1

4) A-l, B-1V, C-II, D-1II

oI5t flitel g 3156 staiar oas o o Proa i
oAl e d1eNy oy Ao Zul 9 #3E
stritaf At R S o3 SRaRs A14mo 23 ord
Moa fofs ot
(1) Eenos
(3) HortEryE

(2) =io=
(4) wwenisie

Mea e Arar Al K a3 Ko a9 w1 a3 a3 2
(1) Hyg) +lpg = 2 Hlg

@) COw +HyO) = COxg * Hag)

(3) 2BrClg) = Bryg + Clz(g)

(4) PCls = PClyg + Clyg

~ 26%51-16 tNEsfEra WeRr @IS — 2 @ider a0 N w7

2) Te
4 O

(1) Se
(3) Po

s it A4l reun =@ ¢

R 12 2651 16 cilarjfry WRAYIRY (T AYZ Qv
FPOHAISH (HIN

H,0 > H,Te > H,Se > H,S @ wiepstaer 36l
ARSI : wicfis widd RfEo e FpoEISF st
SfEtEr AR Porelinl 3 ZBN JONRG By 956
H-aael) 118 wrald Ue60d 3poeIsh Juaiel
GotiEd FR APRA WEE A6 AT Ppesreyfa
(A AdE Tod Ridies a5d: -

(1) Prgfts [ @as g 119wy gel

(2) fayfs 1 a1 g YR 1T el

(3) fuyfs I gar frg Rl 1ol

(4) s 1 ez Pgis 11 QwwR s+
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72

73

74

75

76 -

(Conversion)

A.
B-

C.

(;iivcu below are lWo stae
bml!:mcm L: Aniline Joc
rafts alkylation reag|
Stntcpwnl I Aniline
: :ll;l'lc|_s)’lll|1csis.
(‘I:a;!;-‘::c: l:%?s‘l\:-ﬂ.-l :"‘ above statements, Choose tiis
() Beansyver from the options given below:
Statement | ang Statement Il are false.

2 N . ' .
(2) b-::aqle‘"“-‘m I'is correct but Statement II is

N lst}l?éemem l'is incorrect but Statement II is

Both Statemen | and Statement I1 are true.
Given below

menls: L
does not undergo Friedel-
ion,

cannot be prepared through

are two statements :

Statement I : Both [CO(N_H3 )6 ]3+ and [C0F6]3_

complexes are octahedral but differ in their
magnetic behaviour.

3+ -
Statement 1T : [CO(NH3)6} is diamagnetic

whereas C0F6:|3_

In the light of the
correct answer fro

(1

iS paramagnetic.

abclwe statements, choose the
m the options given below:
SBoth Statem_ent I and Statement IT are false.
Sta’tement L is true but Statement 11 is false.
Btatement I is false but Statement 11 is true.
oth Statement [ and Statement I1 are true.

Fehling’s solution ‘A’ is
8% alkalll ne c0p?er sulphate
alkaline solution of sod; tassi
3 tartrate (Rochelle’s salt) i potassium
Henry’s law constant (K,,) values of three
gases (A, B, C) in water areHl)

aqueous sodium citrate
aqueous copper sulphate
35 kbar, respectively. The solubility of these gases

water follow the order:
B>C>A (2) A>C>B
A>B>C 4) B>A>C

Match List I with List IL

List I List Il

(Number of
Faraday required)
I. 3F

IL.

1 mol of H,O to O,
1 mol of MnO, to

Mn2*
1.5 mol of Ca from 1F
molten CaCl '
D. 1 mol of FeGto Fe,0, IV. SF
Choose the correct answer from the options given

below:
(1) A-I, B-1V, C-1, D-I1
(2) A-II, B-II, C-I, D-IV

A-111, B-1V, C-11, D-I

A-11, B-1V, C-1, D-I1I

2F

I11.

R6_Bengali+English |
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72

73

74

75

76

(I8 )

Nt f]“:’ [:1.]_'(5 42105, © . .

f4fts | + o 1fer el flptitsal-dlspaal "JIII«I"I'-I::_L,.H,,I B,
nfal v’!f.'," 6"[

g;{q [T ¢ Anfaeaan Mz simannsn amiig,, -

adr a1 @l ] ’

':';‘If.el'el fagfts sgtzA Alaiid N was i By

(i 3154 Gz b b4 i

(1) Faafl [ age fa41t 11 w2z, g

(2) Pagfs [ s1f5# 7 1416 [ ga

(3) P [ g=1 iy fafts 11 s1f54

(4) faefs [ 94z frgf 11 w3, 354

s it Pl A

3+ ) 3— -
P : [CO(NH3)6] 42 [COFﬁJ 93 %,
wifel (Ao 1w 26 aA1 (61 H5foie o,

Pt 11 : [co(NH3)6]3+

3-

Romwiteain By [ CoF, | =g
Yoo P e I A6 BT oy
2 AP+ TS Ree $:

(1) R 1 aas P 11 Swwa ga
(2) Piafs 13 g g 11 gt

(3) Rigfs | gl f’-Fg! 49 11 5

(4) Fifs [ gaz Pl 11 TetnR afds

wRisead B4 ‘A’ =E
(1) swra #5114 AT
(2) wnfvamm SEIRHT BIAEBA WY fo
(Ariteta =1401)
(3) Mm@ Al e
4) @y FA1 AGITS

ore Roaifs smewa (A, B, C) wxeifid 9o s (K
NAIFA 145, 2x10~5 @3z 35 kbarl A% e
FANHOT (4 FH DAPHT ZA:
(1) B>C>A (2) A>C>B
3) A>B>C (49) B>A>C
i1 [ g s o1t 11 oieits
GifEs | oiff+ 11
(= s1frste suany
. PRHTSTE)
1 &8t o I. 3F
Sfcens sty
1 carsi MnO;
a3 Mn?* o
sfHads
sifios CaCl, cats
1.5 twi= Ca
1 o= FeO
Fey05 (o sifada
a6 217a fyaesisif (i sif5+ Sod Riise 4
(1) A-IIL B-1V, C-1, D-lI
%2) A-Il, B-II, C-I, D-1V
3) A-lll, B-1V, C-I1, D-I
(4) A-II, B-1V, C-1, D-111

A,

B.

I. 2F

. 1IF

IV. 5F
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79

80
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Match List I with Lig n

List I List 1
st11
Quantum Number Information Provided
Ay shape of orbiaj
B. s © SIZe of orbifg)
c. 1/ 1. oricntation of
orbital
pD. n IV, orientation of spin
Choose the correct answe f,Ofclccl oot
pen r{rom the options given
A-11, B-1V, C-1, pJ;
A-111L, B-1V, C-[1, D]
(3) A-IL B-1, C-1v, Dy
(4) A-L B-lIL, C-II, D1y
«Spin only’ magnetic mon i i
of}:he following fons?. 1ent 1s same for which
A. TSt T B. Cr2t
Cc. Mn?* D. Fe2t
E. Sc3t '
Choose the most appropriate answer from the
options gl:lfeg below: : s
(1) Aan only B and C only
(3) AandD only @ B and D only
The reagents with which glucose does not react
to give the corresponding tests/products are
A. Tollen’sreagent B. 'Schiff’s reagent
C. HCN - D. NH,OH
E. N&HSO?,
~ Choose the correct optiens from the given below:
(1) AandD @ B and E '
(3) EandD ) BandC
Match List I with List IL.
List T (Reactions) List IT (Reagents/
Condition)
.0
A (O -2 Fo I I\Cv
Anhyd.AlICl,
0 .
5. Q-0F L@ I Cro;
OH 0
c O7-0Y 1. KMnO,/
KOH, A
CH,CH; -
D. IV. (i) O
COOK -
(ii) Zn-H,0

Choose the correct answer from the options given
below:

A-III, B-1, C-1I, D-IV

A-1v, B-I, C-1I, D-111

A-1, B-IV, C-11, D-III

A-1V, B-I, C-111, D-II

77

78

79

80

19

Ul | V3L i
Gif | el ‘Nc::r::’,n:;
{&‘fﬁﬁfl‘:r'ﬂ'l[ LES D (31175 @ot)
Aomy L aweda migfs
B. m, I " e
C. | ; I DRLAA AN
D . #wisq BB
: V. Brashrerg ejorm
fae3
it s i}‘‘f"s'q"'_l.f"‘f'l L AT a4 Frag 416 5
(1) A-lL, B-1V, C-1, D-f| N
(2) A-IL B-1V, C-11, D-I
(3) A-IL, B-I, C-1V, D-II1
(4) A-I, B-III, C-II, D-1V
MG @1t e ‘geferna’ Sl g we
oifige?
A. T3t B. Cr?*
C. Mn?* D. Fe?*
E. Sc3*
M6 BS Pidesqfin (10 S1A1fUa mar Tsafs Rreisa
F4
(1) v Ag:E (2) @=sie Bua: C
Q) @wemw Aw4:D (4) @=EWw Baas D
A P o wee e Pl st e e S
=361/ Fesim =y &l
A, ‘S EsEs B. Piwa s
C. HCN D. NH,OH
E. NaHSO,
Aee e Paessgfd s AR Raest Rrateea 4.
(1) @@ Aad: D (2) &4«31g Buat E
3) e EvtD (4) @==moBaa: C
ot 1 ad st eif#=1 [ tyeng
ottt 1 eiftr#r 11
(=) (Fera+/TRs)

. ‘ 0
A OO-:r0 L O

@iEg AlCHy
0
B 0=’ 0 u oo,
OH o
Q- lIL. KMnO/
o KOH, 4
| CH,CH
p. & 77> IV. ()0
COoK (i) Zn-H,0

Mis 2175 ety (e s I Rratser 30
(1) A-lI, B-, C-II, D-1V

(2) A-1V, B-l, C-l1, D-llI

(3) A-lL B-1V, C-ll, D-1lI

(4) A-LV, B-1, C-III, D-ll

[ Contd...
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81

82

83

84

85
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o 0w >

o the following clements in increasing
ran ! i
:'}rltlcl' gl'clcciﬂmn:gnlwn) :

), I Co ot . | .
Ejf,ufwc {he correct answer from the options given
below: ' )

N Si<C<O<N<F
@) O<F<N<C<Si

fff F<O<N<C<Si

Si<C<N<O<F

Match List 1 with List 11.
List 1

List 11
(Molecule)

(Number and types of
bond/s between two
carbon atoms)

l.  one o-bond and
two m-bonds

two m-bonds

one ¢ -bond

ethane

1L
I1.

ethene
carbon
molecule, C,

ethyne IV. one o -bond and

one w-bond

Choose the correct answer from the options given

below:

1) A-IV, B-I11, C-11, D-1
A-IIL, B-1V, C-11, D-1
) A-IL BV, C-L, D11
@) A, B-1V, C-11, D-I11
Arrange the followin
order of first ionizatio
Lig Be’ B3

Li<B<Be<C<N
Li<Be<C<B<N
(3) Li<Be<N<B<(C
(4) Li<Be<B<C<N

g elements in increasing
n enthalpy:

Which one of the following alcohols reacts
instantaneously with Lucas reagent?

(1) CH,-CH,- CH-OH
CH,

(2 cn,- CH —CH,0H
CH

CH

i 3
@ cr,-t-on
|
N

3

CH
(4) . CH,-CH, -CH, - CH,OH

‘Activation energy of any chemical reaction can

be calculated if one knows the value of .

(1) probability of collision.

(2) orientation of reactant molecules during
collision.

@ rate constant at two different temperatures.
rate constant at standard temperature.

81

82

83

84

Olye MWHGI Gsraa Adepiea w4 gif)sgme

N, O, F, C, Si ’ 14 e,
Miki 1 Caaosign oo1ns 3154 Gad imm 2
() Si<C=0=<N<F '
(2) O<F<N<C=<S;j

) F<O=N=C-~5i

4) Si<C=N-O<F

Gtfdat [ ad s oifd41 11 caragig

e | a1 1]

(@19) (901 A1401 1431144 3143
A=A e g wgit)

A. AurE . a#fb G-qaap o

GBI -y

B. R Il &1 q-qeman

C. #1a M. e G-4=ap

: a9 ,C,

D. Zaza IV. aaf6 -4 v

a#f% 1 -qeme)

N6 o473 FA=194R1 (aF ARS G4 Riding 5y :

(D

85 -

20

(1) A-IV, B-III, C-II, D-I
(2) A-NI, B-IV, C-I, D-I
(3) A-IIL, B-IV, C-I, D-TI
(4) A-L B-1V, C-II, D-II

HAN F1NaA QeAAMrEHd GHFn s Nisy ety

ArETG : '

Li, Be, B, C, N

e 275 Fw=styfé (s ads Sod Rise .
Li<B<Be<C<N

(2) Li<Be<C<B<N

(3) Li<Be<N<B<C

(4) Li<Be<B<C<N

B AFae -ﬁm AN @1 BN HTRE Pty
A w2

(1) cH,-cH,- (EH—OH

CH,
@) cn,;- CH-CH,0H
CH,
i\
(3) cH,- C-OH
CH,

(4) CH;-CH,-CH,-CH,0H

R 3E Sete @3S At Rifmug s SR R
F31 NN '

(1) wse g

(2) 1w ssniaNe P oty Renm

(3) 4t Rezt wIsEIN R A w4

(4) =AM GIsnEIN R s gl

| Contd...
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Chemistry ¢ Section-B (Q. No. 86 to 100) |

identify the correct answer.
8¢ 1) BF3has non-zero dipole moment. RO idt aratn a0 Al

2 Dipole moment of NF, is greater than (ha (1) BEy @i teaongag mps _
of NH. ' (2) NI, g oy ]‘," AR TN g1 41000
Three canonical forms can be drawn [or 3 . ; HIAENEY a4 Tt gypagg .4 M 4224
co‘;" ion. ) (:‘_(’3 AL AL AN oty 1012015014, sgapsg

4) Three resonance structures can be drawn for ) N Nl
ozone. GEMEL tAR Roetfls tegentn w301 wigg sy

N "y . . . 87 s
The pair of lanthanoid ions which are diamagnetic PR olet- oy Rodimis)rafy

§7 (1) Ce¥* waEy2+ 3
“; Ce3tand Eu2* Gd3* and Eu3* (3) Pm3* @i §mI+ (i)' Gd4: o By
(3) Pm3*and Sm3* Ce?* and Yb2Z* @) Celttaae vt
88  ©Is1IwI 27°C ti# 57°C « 4o eot @ i
s8 The rate of a reaction quadruples when S Gl s s st iy Ry 4l
" temperature change; from 27°C to 57°C. (@ R =8.314 J K~! mol-!, log 4 = 0.6021)
Calculate the energy of activation. 1) 3804 ’ '
Given R =8.314 J K~1 mol-1, log 4 = 0.6021 8 P gg e
(1) 380.4kJ/mol  (2) 3.80kJ/mol g e
(3) 3804KJ/mol  ((4)) 38.04 kJ/mol 89 s Pafeway
: . C= CH KMnO,/H* p*
g9  For the given reaction: . O_ PII D—“> (major
O’C:CH KMnO,/H ‘p: ’ product)
T e T
produc
Pis (1) ( )—CooH
@ ( )—CoOoH ?H OH
. : ]
?H (I)H a _ ) O—CH—CH_O
@ O—CH-—CH < ||C|) ﬁ)
00 - e (O
(3) O—C-C @ ( )—CHO
@) O’CHO ‘ | 90 25°C wrstaig a garer mRwICER A 20 AFEN
90 The work done during reversible ‘isothermal 5191 (e 10 Agarewdy Gttt SO A s
» SS1fAE FECe FoSIxA sAfaAe TN

expansion of one mole of hydrogen gas at 25°C
from pressure of 20 atmosphere to 10 atmospherfe

18:

(#75 R =2.0 cal K1 mol™1)
(1) —413.14 FEfy

@en R =2.0 cal K~ mol1) N ©(2) 413.14 #rEfy
—413.14 calories . _
413.14 calories - | @ 100w
(3) 100 calories s (4) =y FmEfy
") Ocalorie ' ' 91  Muwa Rl (aw 270 B A adz B
91 Th ined in the followin AT
e products A and B obtained in the follo g‘ 3ROH + PCl,>3RCI + A

reactions, respectively, St -
s A ROH + PCI; »RCl + HCl + B

3ROH + PCl;-53RCI+A
ROH + PCI;RCI + HCIl + B (1) POCIy w3 H3PO,
(21) POCly'and H;PO, (2) H;PO, @t POCly
(2) H;PO, and POCl, _ (3) H;PO; was POCL
H3PO; and POCI - o e T
RG—Be“gali"'English ] 21 [ Contd...
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92

93

94

95

9%

R6_Bengali+English |

ertain cations. Using inorganic

iven below arc ¢ ing ‘
cc|}1:alitativc analysis, arrange them n increasing

number from 0 to VL
AR B

C. BaZ*
E.
Choose the correct answer

'

(1) B,C,A,D,E

(3) E.A,B,C.D

The plot of osmotic pressure (IT )vs goncqntratlpﬂ
(mol L-1) for a solution gives a straight line wit
slope 25.73 L bar mol~!, The temperature at which
the osmotic pressure measurement is done 1s:
(Use R = 0.083 L bar mol-! K™

(1) 310°C 25.73°C

. Cu?*
D. Co?*

from the options given

E, Cg D, B'!A
B,A,D,C,E

3) 12.05°C 37°C

A compound X contains 32% of A, 20% of B and
remaining percentage of C. Then, the empirical
formula of X is : '
iven atomic masses of A= 64; B=40; C=32u)
ABC, (2) AB,C,
ABC, (4) ABC;

Major products A and B formed in the following
reaction sequence, are

OH
H,C .
L.
3,

- ale. KOH '
A ——— B
(major) (major)

H;

@ a-

During the preparation of Mohr’s salt solution -
(Ferrous ammonium sulphate), which of the |
following acid is added to prevent hydrolysis of
Fe2* ion? '
(1) concentrated sulphuric acid
(2) dilute nitric acid
%31? dilute sulphuric acid

dilute hydrochloric acid

22

92

93

94

95

96

Mt w410 BB AR08 g,
3

anfear g5t Aerst 0 0104 VI gq ?:wm}-.t e Ty

A, AP B. g M h.r..‘,:”
C. Ba** D. o2 i
E. Mgt

Mt o 751905 000 054 iy

(H B,C, ADE  (2) ¢ C D-n;:;,; 4q

(3) E, A, B, C, D (4) [; A. D! (1,2

a=f% gAt1d SFAN B151 (17 ) 4oy, o

o 570
teruifb® DA TR A 31404, oy (mey
s1ftst 341 25.73 L bar mol=! 45 6"""61;: :m B,

S Mg,

sf3r1s1 FA1 ZACE O 23
(A= R = 0.083 L bar mg|-! K"])
(1) 310°C @) 2573
(3) 12.05°C 4) 379¢

X anag @3S &Nt 32% A 200,

]

B aq: o
moiet C A= X OF 3203 Aeig 2y . R 0
(a7s A 93 AFAHS vy = 64; B = 40. Cy
(1) ABC; @ ABgc, Y
(3) ABCy 4) A,BC,
dee oS FAIEIST Jar SesmA gq. g -
" OH
H,C -
(major) (majr)
Br

M a- ; B=

OH

Hy Br HC I
@) a- 2t \0
N ’ 0

) a- pe
Br
Hy H;C
T eltae

GTTER 9o Rretse (ediot oincnRiE s
WM SHRITING @Iy IS A6 Fl M
e B4’ ?

(1) =i AEFEeEs anthe

(2) =g mRfGs vy

(3) =1y YT Tk

(4) =g R sk

[ Coulljm
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97  Consider the following reaction in a sealed vessel
at equilibrium with concentrations of
N,=3.0x103M,0,=42x 103 Mand
NO=28x103 M.

= O
2No(g) N2(3) Pe) _
1£0.1 mol L-! of NOy, is taken in a closed vessel,

what will be degree of dissociation (a) ofNO(g)
at equilibrium?

f l f 0.0889

0.717
98 Identify the major product C formed in the
following reaction sequence :

CH,~CH, -CH, - 2N,

(2) 0.8889
(4) 0.00889

OH~ ,p_NaOH
Partial hydrolysis ., 7
artial hydrolysis Br2 (major)
(1) butylamine
(2) butanamide

o — bromobutanoic acid.

3
' propylamine

99  Mass in grams of copper deposited by passing
9.6487 A current through a voltmeter containing
copper sulphate solution for 100 seconds is:
(Given : Molar mass of Cu : 63 g mol™!,

=96487 C)
0315 g
0.0315 g

Given below are two statements :

(2) 31s5¢g
4) 3.15g

100

: 3+ .
Stafement I : [CO(NH3)6-] is a homoleptic

+
" complex \vhereas_[Co(NH3)4ClzJ is a

“heteroleptic complex.

3+
Statement II : Complex [Co (NH3 ) 6] has only

0 . +
One kind of ligands but [CO(NH3)4 Clz] has

More than one kind of ligands.

In the light of the above statements, choose the
correct answer from the options given below:

Both Statement I and Statement II are false.

2) Statement I is true but Statement I1 is false.

Statement | is false but Statement II is true.

@ Both Statement I and Statement II are true.

RG‘Be"BalHEnglish ] 23

97

98

99

100

Qe AGD e 39 wis a3fb engsy s
RIALIAA AUBBHAYCRA W1 .
N, =3.0x 103 M, 0,=4.2x 10-3 M a4z
NO=28x 103M.
2 =N +0

NO(e) = Ma(e) * o)

qfi aalb 4w sg 0.1 mol L-! NO g Nt &N

A NO g @i Reset gt (a) #o m?

(1) 0.0889% (2) 0.8889
(3) 0.717 (4) 0.00889

sy s 2Fe gur Bestm C bies 4 ¢
CH,-CH, —CH, ~1—2CN, 4

OH NaOH C

Partial hydrolysis =~ . Br2 (maj or)

(1) rEHEeRsene

(2) FESBIEmIBY

3) oa-—-@nmlESsERE onbiv
@) = Rstemne

I AHEHTG F40 HIE aRe B @Ifehitny
100 witsy sty 9.6487 A ofye sudieEn =ter AMG
BIATY #HIYW WS 99

(75 : Cu a3 ®f4+ @4 : 63 g mol-!

IF = 96487 C) |
(1) 0315¢ (2) 315g
(3) 0.0315g (4) 3.15g

MNes g Pyl g :

3+
i [cH [CO(NH3)6] . uaf® eifgmisema wiba

: +
Gl g [Co(NH3)4C12:| az(B Rewtsieesers
eif®et ¢l

3+
PR II: [CO(NHS)G] wiba LMy uF wAeEs

- +
AEEE ATHCE YIS [Co(NH3) " CI2] ¥l aF

. uEEE & A Qescs]

T gl sgeRa sues e was e
TS A T Riatse '

(1) PR T a3 PRl 11 Sew® ga

(2) Pl [afds g R 11 ga

(3) Pfs [ge frg faqls [ als

@) By | a3 Rl [19wwR 90
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oklet Code GUDRI This Bookletcontains 48  pages.
T HATES EeTwefien 48 Doprwnx
s s

Do not open this Test Booklet until you are asked to do so.

et enenm o @2 @i Yo =

Read carefully the Instructions on the Back Cover of this Test Booklet.

— | a2 #SrwreifEem orm o awe Rteat o SR i
!mpart(mr Instructions: GWQ“/ ﬁ?’r‘ﬂ?ﬁ} . ‘ s

1. The Answer Sheet is inside this Test Booklet. When vou Ty e e e T TR | THF IS A==l
are directed to open the Test Booklet, take out the Answer | 1 78 71 [EFE (SSE TS (7Sq =R | '

T
Test Booklet No
i@t sfkeeia et
BENGALI+ENGLISH

Sheet and fill in the particulars on ORIGINAL Copy s cxre v (rent 207, Soeeraf (3w I WS w3
carefully with blue/black ball point pen only. @g wre fRarRd T3 simene  afRHRR e wyww
2. The test is of 3 hours 20 minutes duration and the Test Booklet Ma/=wen 97 *w s == % G MERE A

contains 200 multiple-choice questions (four options
with a single correct answer) from Physics, Chemistry |2- #RPHTR TG 3wt 20 Muiina9e 30w o ot

and Biology (Botany and Zoology). 50 questions in TR €32 S Fme (S e mdifem) Rewe
each subject are divided into two Sections (A and B) 200 G wafResin uy wicm) (9ol o= Soa-7ifEe v Res

as per details given below : =rarR) wrETE fEm T e
(a) Section A shall consist of 35 (Thirty-five) Questions SRSA[TCHR), Pl = pY o, " ‘

in each subject (Question Nos - 1 to 35, ‘fﬁﬁ 8 (A 932 B)-9a S 1 W
61 to 85, 101 to 135 and 151 to 185). All questions (a) Yo A= a2z farg 35 6 ery (2rg w12e9m - 17373 35,
are compulsory. -

(b) Section B shall consist of 15 (Fifteen) questions in ull SHEF v ].Dlatﬂiwf RAREES SRy aa)
each subject (Question Nos — 36 to 50, 86 to 100, 136 TR | R X :
to 150 and 186 to 200). In Section B, a candidate (b) ¥e BT 2rerw’ fauey 16 i e (org Seam- 36 T2ta 50,
needs to attempt any 10 (Ten) questions out of 15 86 TITT 100, 136 TUTH 150 992 186 TAT 200) TCZ |

(Fifteen) in each subject.

Candidates are advised toread all 15 questions Y3 BzE, R S 15 6 27 cortes cueaes

in each subject of Section B before they start 10 5 erem Tan T firs =)

attempting the question paper. In the event of a * 3w Tewa Boot crew T (0 ojafETE SEa crewma LS

firat ton questions answered by the candidate | Y9 B¥ 72 15 2 o503 3% comn i s e

shall be evaluated. it wvea $ea o wrmes +ArwIdE 9| SRS daw wiih
3. Each question carries 4 marks. For each correct response, AT IR TR w0 A

the candidate will get 4 marks. For each incorrect |3 ofy s e 41 wrrers s B Saran wy ~Arw@

response, one mark will be deducted from the total ¥
scores. The maximum marks are 720. 4 TR LA ATEIS AR A SGLAA Tl | | o

4. Use Blue/Black Ball Point Pen only for writing =01 T | e == 720 | ,.
particulars on this page/marking responses on Answer |4 % PR Twred) AR @ STAEE T W P
Sheet. TGS elLr) e

5. Rough work is to be done in the space provided for this T2 TG T TLR IR I@ | .

‘purpose in the Test Booklet only. 5. WY T e FriTrs 1 2Te $a0s @ |

In case of any ambiguity in translation of any question. English version shall be treated as final.
mwﬁmmﬁa@w,%@%wmmmm, A |
Name of the Candidate (in Capitals) : —=
1w It W (IP 29 - _ »
Roll Number :in figures , ;'_ -

i y7 - LT
:in words

+ *[H
Centre of Examination (in Capitals) :
AT (IP TD)
Candidate’s Signature: Invigilator’s Signature :
MEIRIEE , v ares
Facsimile signature stamp of

Centre Superintendent: ) ;
% Gl afoat O (IRA AT,

6_Bengali+English ] ) . : [ Contd...
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[ Bdtany : Section-A (Q. No. 101 to 135) |

101 Lecithin, a small molecular weight organic

compound found in living tissues, is an example
of: g '

-~
Phospholipid3  (2) Glycerides
Carbohydrafgy  (4) Amino acids
et
102 These are regarded &s major causes of biodiversity
: loss: W
A. Over exploitation
. B. Co-extinction
C. Mutation
D. Habitat loss.and fragmentation
E. Migration gy
Choose the correctioption:

(1) A, B,CandD only

2) A,BandE only
* A, B'and Dai}ly

A,CandD anty

103 Which one of the following is not a criterion for
- classification of fungi?
Mode of nutrition
Mode of spdié formation
(3) Fruiting bod§! _
@) Morpholog%:alf mycelium
104 A pink flowered!Shapdragon plant was crossed
with a red floweredi Snapdragon plant. What type
of phenotype/s ig/are expected in the progeny?
Red flowered as well as pink flowered plants
Only pink flowered plants
(3) Red, Pink as 'well as white flowered plants
(4) Only red flowgred plants
105 Which one of th o llowing can be explained on
» the basis of Mendel’s Law of Dominance?
A.- Out of one pair of factors one is' dominant
and the other is recessive.
B. Allelesdonbfshow any expression and both
the charadf@rs appear -as_ sich in F,

generation,

C. Factors occur in pairs in normal diploid
Plants. -~ ' .

D. The discretéXinit controlling a particular
character is €flled factor.

E.  The expressioh of only one of the parental
« characters isfound in a monohybrid cross.

Choose the correct pnsiver from the options given

below: .

A,.C,D and E only
2) B,CandD only
3) AB,GD andE,
4) A,BandC on!y

R6_Bengali+English ]

102

103

104

105

24

101

ERifE, O% a3 Sl geEd T (il N1 Wy

o st WK, aft af® Gargge 2@ :
(1) wawRiBues  (2) PestRwd
(3) anmBuwiva  (4) emfiE ombiyd

WNAGG wfox yaswsier drder P w41 a4
woifys qfadiazicrd B 3% St
n=-fagfo
Alaify ,

qioanad wu 6 yRvesde

E. sfaamE

A fyaeilb Rifiee #4:

(1) @39 A,B,Ca4z D

(2) @I A,BaacE

(3) @=sA,BuasD

(4) @waa A, CaatD -

oow>
BSTIBBL

Niv mel b v os @dlRents oz oo
(1) of%x s=a - '
(2) w@o 7 Ha1 wEA _

(3) == = (Fruiting body)

(4) WRWRBIERT AT

84TIggy

~
a3fB G syest RMSS FnsFeE sved s adis
a1e spost PSS setiistgiom o SRS ot R8N

qE 7

(1) =t s3est @as il spest RRSS sig
(2)  wras el spost fafss s

(3) =t e wag A sges fAMSS ang
(4) @t e spont fafss sng

RS HFEO1 g fefe Rirafufue w@ial® anay
FA1 JHA?

A, 9FTEY! TUBA AN QHLHI W 9HS 543 iﬂﬂ%
oz =

St @iE Mg wata T4 A1 a3s VpI

Tt F, wepee e wiml n

C. =eifs fyenxy Yfowm wnda A o afly
GO ATl '

+ o W P P MawE afkaersa/afuesan i o

8BS

B.

D. 311%a o1 a3l® sus 93 N1 S RiFSS M

R 34 ~J
PIEIRIR Y 3 41 9F 33 oEE asls A9
wrftipa Tt srvra mal - 4y
MNus 2na Raesiefi s s oald Riisa 3

E.

(1) @astA,C,DaatE e
(2) ww=e B,CeatD %)
(3) w3 A,B,C,DaxsE - ®
@) @aa A,BaatC
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106

107

108

109

R6 Bengali+English |

Tropical regions show greatest level of species
richness because S

A. Tropical latitudes have remained relatively
undistul“hcd fog millions of years, hence
more time was availpble for species
diversification.

Tropical environmentgiire more seasonal.
More solar energy is a\ilable in tropics.
Constant en_vironmdués promote niche
specialization. J
Tropical environments are constant and
predictable. | .

Choose the correct answer figin the options given
below: -

(1) AandB only

2 AB and E only

3) A,BandD only
A,C,Dand Eonly
In the given figure, which cbmponent has thin
outer walls and highly thickened inner walls?

SOow

E.

3) B

The cofactor of the enzyme pérboxypgptidase is:
(1) Niacin, (2) Hlavin
(3) Haem (4)) Zinc

Given below are two staterfdhits:
Statement I : Chromosomb§!become gradually
visible under light microscBPe during leptotene
stage. _ : -
Statement II : The begining of diplotene stage 1s .
recognized by dissolution Of synaptonemal
complex.
In the light of the above staj
correct answer from the optjons given below:
(1) Both Statement I and S{ajement II are false
(2) Statement I is true but §tatement II is false
Statement I is false but Statement Il is true

ents, choose the

Both Statement I and Statement Il are true

25

106

107

108

109

AN v Ay worad sanfts safta (species
richness) that tan sppsr 9

A, sy OURLANIIE 4T, A Aud Aqd AIWIHO
I UG e, org T A LAfbad oy
BUAS NN (312108

B. @13 oypy ARG A gl

C. @1y e @A BN adaa

D.  omfaadmu s a'nwﬂmﬂww Hinftio

=l
E.

FID AR =2 ARy Qe B G
Mis 27 R s 94 B Ridios; #4-

(1) w@==A 945 B

(2) wa=A, BaazE

(3) @esA,BuazD

4) ‘@=st A, C,D@itE

MNes vrat oo @ie DI ATRT % M6 @ Roow
sygel SIBN ANF 7

@ A
@ C

(1) D
(3) B

=5l=n§n¥m_r§Wa Yoo mﬁn%arﬁs =4

(1) asfha (2) gyifs
(3) fxw 4) Qo=
o v &)

1§31

s gt gt e =N
fagfs 1 : vBiiel THTI Qe oo 13wer Niea
@icerrae i i A o fes 1#E 3l

fegits 11 @ RopserifBer Satmmiid QF=e ~eE #40 =N
sRastisIREE Fausiid A aAE A Al
Gspraa gl spr=d tsmamgmcs s Parestfa
e A% God Rrateel 4 _

(1) P51 aas Ryl 1 SHFR gl

() fagis [l g ﬁa{fﬁ‘ﬂ-’ﬁﬁl

3) Rl | gar Peg Pl [19%

(4) Rfs [ ads gl 1 Qg A5+
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110 What is the fate of a picce of DNA cyrrying only | 110 e =isiivo @9 06N aafd DNA sy
gene of interest which is transferred into an alien asfBd aamo(alien) Mas oL ARLAZ G4 Hra
organism? ltio! P s meo smea 7
A.  The piccc of DNA would be able tomultiply A. DNA o8 =10t amjees sqflorarea

itself independently in the progeny cells of

the organism. afsrst A39 $O s

B. oft mizs Mg swn onfes 5o sy

B. It may get integrated into the genome of the

recipient. - _ C. ofb sewiiqftn 3140 M3 Q4+ tsnses DNA a4
C. It may multiply and be inherited along with AN ARG FNAG 505 sz

the host DNA. . D. af@me (alien) DNA waufs AT
D. The alien piece of DNA is not an integral P —— ) S

part of chromosome.

E. It shows ability to replicate. E. af® afofifa39 331 waer o

Ciwose the correct answer from the options given s ool AFef (A Afs Soe Rroe a4
below: () msDaxtE (2) @3B aea:C
(1) DandEonly ((2) BandConly () @AeRE (4 @AeB

(3) A andE only (4) AandB only

111 Ry=pmena Aesns 1S, mass«a v FTI6w;

111 Identify the type of flowers based on the position e foRxe A fa (a) o (b) orom oy
of calyx, corolla and androecium with respect to |
the ovary from the given figures (a) and (b)

- (1.) (a) == ; (b) =N

1) (a) Hypogynous; (b) Epigynous :
- 5 Ea; Peyrggjigggus; (b) Epigynous 2) (a)waf5; (b) wNF
(a) Perigynous; (b) Perigynous 3) (a) =%l ; (b) wWafs
(a) Epigynous; (b) Hypogynous _ . (4) (a) NN ; (b) M
112 Match List I with List IT _ 112 ot 1 a3 e el 11 oren o
List1 List II oIt 1 el )|
A. Two or more .1 Backcross A. «f$s @eE 5R . s
alternative 31 o1d ASF
forms of a gene _ . st 154l
B. Cross of Fl 1L Ploidy B. Flwe@ana [I. =iy
progeny with : ISR
homozygous om I
recessive parent o
C. Crossof F, m. Allele AIRNF -
progeny with C. FI1 smqg s . =m
any of the parents : e 9l
D. Number of IV. Testcross aftiga HaRNAT
°h’°5“°51°“‘te D. Sfem ¥adac Iv. &% 2
sets in plan )
i ven @RI (S 9F AN ‘
E:lﬁ? the correct answer from the options g1 e oxont A P
A-11, B-], C-IT1, D-IV ) (1) A-IL, B, C-lII, D-IV
' @ A-III, B-IV, C-1, D-I | “ (2) A-IL, B-1V, C-1, D-l1
A1V, B-II, C-II, D-I (3) A-IV, B-l1, C-II, D1
(4) - AL, B-11, C-11I, DIV (4) A-L B-lL, C-llL, DIV

Rﬁ_Bengali-l-Eug“sh ] ‘ I 26 | Contd..
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nation of interfascicular cambium from fully
loped parenchyma cells is an example for
Redifferentiation
Dedifferentiation
Maturation
@) Differentiation

b of the following is an example of
114 which orphic flower?

For
113 deve

tinom "
af)l Cassid Pisum
5) Sesbania @ Datura

s cuts DNA molecules at a particular

’ | 1 :

115 p%?;lg]ﬁyrecognition sequence and it consists
N 6b (2) 4bp

@ obp @ 8bp |

r the dark

ich of the following aré required fo

né :Z:c:tion of photosynth;:;ls. Chiorophyl
ight .

‘A, Ligh B. LTP |

c. CO
E. NADPH o
Choose the correct answer from the optiofis given
below:
B, C and D only
C, D and E only
D and E only
@4 AB and C only

117 Given below are two statements: -
statement I : Bt toxins are insect group,speclﬁc
andcodedbyagenecryI_Ac.. _ A
Statement II : Bt toxin exists as inactive
protoxin in g thurinﬁemis.ﬁ Howe:rer,‘ af:;'
i e insect the inactive-pro oxin
ingestion ue to Ia;cidic' pl-% of

converted into active form d

the insect gut.
In the light of the above statements, choose the
correct answer from the options given below:
Both Statement I and Statement II are false
Statement I is true but Statement II is false
' Statement I is false but Statement II is true

(4) Both Statement [ and Statement II are true

118 The equation of Verhulst-Pearl Iogistic'grow'th is
av [K =N '

=M x
From this equation, K indicates:
Biotic potential '
Carrying capacity
Population density
(4) Intrinsic rate of natural increase

119 The capacity to generate a whole plant from any
cell of the plant is called: '
(1) Micropropagation
(2) Differentiation

Where Aspiration Meets Success
13 stige Mderpr3
BRI N A o
a A4 Fasyfy a0 iy 'qm-mmw 14
) I CEE S . :2 YT 3.
() Afusgery “’ Brzaanfran
114 s ") e
oA s apfy 453t
() #upuy Q@ TN A e
@) wwrnmm e s
T

115 DNA @z
o A B saieer Hind | a5
IEPAN WGFT A= zx1 942 afs = - o

(1) 6bp
2
G Wb @
116  STEIFHUMAL SeEF14 iy 2N
PO — I oA G
A, @IED B. @i
C. CO, D. ATP
E. NADPH

s paaa sEe]fHE AT (0 AT T4 Ridisa a4
(1) waaB,CaatD (2) @4 C,DunE
(3) @@= D @ds E (4) @49 A,Bax:C
117 s gft A3Rs CroNT ONTR:

" fpufs 1:Bt o RIfS Rt Ao use
Fra. Fod @43 NE wbl Asw@fow cry [Ac!
fafs 11: B thuringiensis @3 Teed Bt EIEE
e fiftsn g1l oAl Wfig, TS w4l
ety wee (NS AN ‘@sifae @fi=s pH 93

ol of A ol sfoo =3l
Wopad Rigfo sgeRa o NG a5 =i

e A+ Yod BAiee 4
(1) figfo 1 aa: Al 11 Sowg g
2) FRafsl A+ fog A3l Mg«

(3) PRafs Iga g Rrgfs 11 A%
(4) AR ads e 1 Swtng A3

118 Verhulst-Pearl @3 afafes qftaa ANFIa® =29

dN [K—-N}.

_a7=rN X

@’ aMwace, K Biwe 3.

(1) *Nfx a0l

(2) == wACl

(3) eI SEP

(4) mgfos Yma =HN L

119 ‘St o @i @A WA 9P Tl S
Besie I FAGILS 301 TH:

(1) B@AerE

(2) aenfaen

(3) CTREHIN AFAINA

Somatic hybridization
@ Totipotency

‘R6 G o .
- T0-Bengali+English | ‘27

4) ifstenivks
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120 The type of conservation in which the Ii\fenlct]cd
spécies arc taken out from their natural habitat
and placed in special setting where they can be

tected and given special care is called;
@ Biodiversity conservation
Semi-conservative method
(3) Sustainable development
(4) in-situ conservation
121 The lactose present in the growth medium of
bacteria is transported to the cell by the action of:
@ Acetylase
Permease
Polymerase
(4) Beta-galactosidase
122 Spindle fibers attach to kinetochores of
chromosomes during
@ Metaphase (2) Anaphase
Telophase (4) Prophase
123 Ideptify the part of the seed from the given fi u
: whlcl} 1s destined to form root whgn the fe:g
germinates.
@
@3) D “4) A
124 A transcription unit in DNA is defined primarily
by the three regions in DNA and these are with
respect to upstream and down stream end;
(1) Structural gene, Transposons, Operator gene
. Inducer, Repressor, Structural gene
@ Promotor, Structural gene, Terminator
Repressor, Operator gene, Structural gene
125 How many molecules of ATP and NADPH are
required for every molecule of CO, fixed in the
Calvin cycle? "
(1) 2 molecules of ATP and 2 molecules of
NADPH '
(2) 3 molecules of ATP and 3 molecules of
NADPH
@ 3 molecules of ATP and 2 molecules of
NADPH
(4) 2 molecules of ATP and 3 molecules of
NADPH
R6_Bengali+English ] 28

120

121

122

123

124

125

1 AAd ALA®L a1 Bemitong -
g1t Aol (AP (A4 B (A0 Al 4, 51
@4 e oI HEE 8 P31 51604 Ap45,, .
s

(1) @Aafby A

(2) o gepor st A1591G

(3) .APaa G

(4) Ra-Big AEwI

gfem AR GARAC aAntorer BN chyy
sifynfro =3 [iE RN o1 25

(1) ompieREe

(2) =rafEs

3) SRS

(4) RivIAEATBIAIR TS

oy @IAITId FIRCBIIAT A 7,
=y (N AN

i e Neerd 3 DA™ NS TFTETE Zyyy
514 &l (oAl F1d O AT FA2

@ C

@ A

DNA a7 afofawa ug #1950 uas Bywied DNA €4
foftife srertas Risiaer 13 s, org upstream @
down stream 133 AEs1eEe

(1) =151 et Brvestret, asEda e

(2) eI, fFema, ssasE) e

() A, ASepN e, Bra Ruieita

(4) fama, ssnEda Qa, ssasid e

(1) B
3 D

‘fﬁﬁﬂ?ﬁ?’l 5@ At o] CO, WAYo 3417 Sweif 3N &Y

ATP v NADPH stestrsret =x ?

(1) 2@ ATPu 2 wg NADPH
(2) 3 @9 ATP 5 3 @9 NADPH
(3) 3 ©ie] ATP 8 2 @i¢g NADPH
4 2 @il ATP u 3 w9 NADPH
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Given below are twg statements:
Statement 1 : py.. I Lo
- nehyma is liviy b
collenchyma is dead tissyc, & but
statement II : Gymnos
but presence of xylem v
ofangiQSPe"“S-
In the light of the above Statements, choose the
rrect answer from the options given below:
(N Both Statement I and Statement 1} are false

Statement | is true but Statement [ s false
Statement [ is false but Statement I is trye

_ Both Statement I and Statement 11 are trye
Auxin is used by gardeners to prepare weed-free
Jawns. Butno clama_ge is caused to grass as auxin
promotes abscission of mature leaves only.
@ does not affect mature monocotyledonous
(3) can help in cell division in grasses, to
produce growth. )
) promotes apical dominance.

126

perms lack xylem vessels
essels is the characteristjc

127

plants.

”l ' In a plant, black seed color (BB/Bb) is dominant
1 over white seed color (bb). In order to find out
the genotype of the black seed plant, w1th. which
the following genotype will you cross it?
bb (2) Bb :
(3) BB/Bb (49) BB

Inhibition of Succinic dehydrogenase enzyme by
malonate is a classical example of:
1) Feedback inhibition
Competitive inhibition
" Enzyme activation
(4) Cofactor inhibition

129

130 Match List I with List I

List I List IT
‘'  A. Clostridium I.  Ethanol
butylicum )

B. Saccharomyces II. Streptokinase

cerevisiae ' o

C. Trichoderma I0. Butyric acid

lysporum _

D. {;rgpg;occm sp. IV. Cyclosponn-_A
Choose the correct answer from the options given
below: .. ’

A-IL, B-IV, C-I1, D-1

@ A-II, B-1, C-TV, D-1I
A-1IV, B-], C-III, D-II

(4) A-II, B, C-II, DIV

Bl Listof endangered species was released by-
1) WWF (2) FOAM .
' IUCN (4) GEAC
RS Bengali+English | 29

126

W B4its tevair o 0arm,

I: HITZCES T ,
anyl B D (g ommmaing e

Pegfts 11 - ANl Wy,
SR 43 g4 281 7w

UAY Pagits

WS Agzg o a

. [ :

IS A5 S Ryii5eg +4; e

(1) PaRs | gy pr.
M 11Yaa

@) Pt | iy g fagps u?;a? )

(3) rafb 1 9% 25 4o 11 afyes

(4) PRs | @y i 11'Sows s
127 ®mna f¥saasa A

ol WAe IEEIT e

wifss -

(1) . #35% suo1r custE smiso; el

(2) e NaAR Sivwrm 1u stows HOIRG 11 a)

() = @w Prerea smer s e B gty

s FAN|
(4) wmpa gFBOI F=TS /AP 3w

@ Sfew e Fieen 33 (BB/Bb) #m aswm
Niwra (bb) T3 2301 Fwett Ner SestrmwiN Awea
Rercatitra= Rixfratera s, ts tios &= Resieksg
AN oid 513 BAs So1o =xd ?
(1) bb . (2) Bb
(3) BB/Bb (4) BB
TICEANHTS SA1d1 AR Ry RoeTs Yemosd
Agae Pigfs =1 a3 STt Sargaa ¢
(1) Pvans B3fs
(2) fwarMeyEs il

(3) Yewies AlFNOl
(4) wrEnda Rigfs

130 ot ] g sice e I e

H B0 Ay Ay LIRE /]
MNitor Afteagsr g AT '

UF AN 9 afy g
Py iond e wfts g o,

128.

129

wiftr#1 1 eIt 11

A. #BExE I. BaEe

. FEeiRRrema

B. Anan@mzeid . cEoeIsBRES
cocafeald

C. SZewrsEa [l oeRRs
el ey

D. cEacesan Hsife IV, sRwiesnfEe-A

M ams Ry s s+ T [ A8
(1) A-II, B-IV, C-III, D-I

(2) ~ A1, B-I, C-IV, D-II

(3) A-1V, B-1, C-III, D-II

(4) A-I, B-l, C-II, D-IV

faste A1Na oIfiadt g3 -
(1) WWF (2) FOAM
(3) TUCN @ GEf\C

131
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132 Mateh List b wihth List 11

List 1 List 11
A, Nucleolus 1. She of formation
of glycolipld
B, Centriole 1. Organization like

the enrtwheel

Site for netive
ribosomnl RNA
synthesis

D. Golgiapparatus 1V,  For storing nutrients

Choose the correct answer from the options given
below:

(1) Al B-11, C-1, D-IV
(2) A-lIL, B-1V, C-I1, D-I

A-l, B-11, C-l1L, DAV

A-llL, B-11, C-1V, D-1
133 Match List 1 with List 1

C. Leucoplosts n.

List 1 List 11
A.  Rhizopus . Mushroom
B. Ustilago 1. Smut fungus
C. Puccintu 1. Bread mould
. D. Agaricus IV. Rust fungus

C o (1) AL B-NIL CAll DAY
©(2) AN, B-II, C-I, D1V

3 A-IV, B-II1, C-11, D] *
©)

A-llL, B-I, C-1v, D-|

132 Al | ad nee oliban 1] tarefin

o | afma 11
A, (ot (R T
HAod ms
n, o I, itrd niarg

I eheg
Hiwat iAo,
RNA Memnimy
11
D, w40 IV, 4014 smm g
Moy el Faaent [ (e nIXa Yaq gy,
(1) A-ll, B-111, C-1, D-IV
@) A-l1, BV, C-I1, D-I
(3) A-l, B-II, C-lII, D-IV
(4) A-l11, B-11, C-IV, D-I

133~ okl [ ad sem o4l [ e

C.  IHOpmih i,

wifter | aifigr (1
A. Aol L wae
B, /Berin I faaif® gon cm
C. sl M. @M wio
D. oumfasrn V. 314en cam oo g
w14

M una el (i Ai3a Bat (Al an;
(1) A-lL, B-lII, C-lI, D-IV
(2) A-lI, B-1l, C-I, D-IV
(3) A-1V, B-llI, C-II, D-I

' 134 Identify the set of correct statements: ® A, B, CLV, D-I
A. Theflowers of Vallisneria are colourful and | 134 3134 PrqRo sffitea metiar 4
PFOd'-_'ce nectar. . . A, wnfsieafin por gor 4@l ade 31y Besmay
B. 'll,‘hc:v gtc;\:ers of waterlily are not pollinated B. ., Mlofs iptord MA1MCAIM @rCotd NI ay ai
C. h? most .of water-pollinated species, the C. oreed st 1 gentiouo 4 2y, ol
_ pollen grains are protected from wetting. "1_"_"'“‘1 ol
D. Pollen grains of some hydrophytes are long D. Py oy @rerer Bfhwend waimiae wents o
and ribbon like. firoipits g |
E. In some hydrophytes, the pollen grains are E.  fay Poy ororer Bfhwon staimia i e
carried passively inside water. Gt / Mmied 4ifko al
Eh[oosF the correct answer from the options given MG troxn sisgstnf¥ Lo b+ Bzd Yaise +4:
DEOW: ' (1) e A, B, C @4t D
(1) A,B,CandD only - .
2) A,C,DandE only (2) @44 A,C,DaatE
@ B, C, D and E only (3) @44 B,C,D e E
C, D and E only (4) @44 C,D et E
: - ' - 135 gRuwar camy A
135 Bulliform cells are responsible for ?l ) '@:::: :H-m'f:m -UI zw_
(1) Protecting the plant from salt stress, N ) m«m_ SENEY Y
. (2) Increased photosynthesis in monocots. (2) a#DaMd Ve AN it
3)  Providing large spaces for storage of sugars. () m#w @l awid e qae i 4
@ Inward curling of leaves in monocots. (4)  waDasnd Ofhwen ol eiwrde b Ao
R6_Bengali+English | 30
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135 Match List l“’ill] I‘___““__" — “—J“- '-“. |Sll) I

List1 st
- . List g
(Types of hl:ll‘ng\“s) = 136 SN P . -
A. Monoadelphoy,g %l"“u‘n}ﬂc) HIFH:; Faa siemg enfzea 11 caram
B. Diadelphoys " () trus S ' a12r41 11
C. PO!}'“dOII’hQus ”i L(lrlf; A.I, VAL i nyear) (#w15.471)
< I . 4 R
D.Clllégz‘.l;l:?\::gg:mct N\ China-roge B. i&,r;;: g :1
below: answer from the Options givep C. Az ::l o
; . TS AT Py
(;.; 2_:\;],38]-14‘ L D-in 2 N s IV, oy
( =Ry =i, C‘l - Py s i
A-IIL, Bl C-]\Q/ [l):)]:[ ’T:LB HAg f‘«rn-sqf‘et L AfSS Do tars -
NV Ed ’D-i]} (2) A-IV. B-1. C-I1. D-1i
’ EB; A-L B-IL. C-IV. D-111
& S A-IIIL, B-1, C-IV. D
Identify the ste L . . D-I
137 does rgt involfel g;riﬁ::il::‘xypc aljld cycle, which 4) A-lV, B-11, C-1. D-III
e A OT substrate, 1 T
L Succ!mc acid — Malic acig 37 R RS o SLPd STNN 4 pare ArsBieg
Su¢cinyl-CoA — Succinic acid BFIEIHs srger may a)
Isocitrate — ¢

-keto_glutaric acid

(M) =Py NIy - Ty MBS
Oxaloacetic acid

(4) Malic acid —»

(2) AHHAZ e -tFrasenEn A -
: ) AR sinfie
138 @;ﬂ %NA ]itres;:m In chloroplast js: G) wBGIRES - orem IR smprs
Ircular, double stranded (4) =y
Linear, single stranded * WY - SmaEnmes ANy
(3) Circular, single stranded ' 138 @imi=nss Sapas DNA = -
(4) Linear, double stranded (1) a1, fraom

) aaﬁ'ﬁami
139 Match List I with List IT aFoH

: . Q) em1a13, avom
List I List IT .
" A. Frederick I Genetic code @ wadtane, Rz
Griffith : 139 @R | az sgoy o1t 11 tayenng
B. Francois Jacob II.  Semi-conservative G | 1R 11
& Jacque mode of DNA A. @of R
Monod replication ! L cwi o
C. Har Gobind NI Transformation _ B mﬂfm s Il DNA 3 s
Khorana B P Wy TFerNa 21RoRiBrasan
D. Mc]s;mlalson & ~ IV. Lac operon C. =menf¥ carmen S
Sta : D. wwiana g 39 IV, &ns wisimg
Cl}zc‘::s:e the correct answer from the options given Mba =19t A= Yog B115a 33 ;
A-IIL, B-1V, C-1, D-II (1) AL B-IV, C-1, D1
A-IL, B-ITI, C-IV, D.I (2) A, B-11I, C-1V, D-1
3) ATV, B, CAL DI o (3) A-IV, B, C-I, DIl
(4) A-II, B-IL, C-I, D-IV (4) AL B-IL, C-I, D-IV

140 St 9% Ssrenfos 31w N v s

140 Which of the following are fused in somatic el afoger za 2

hybridization involving two varieties of plants?

Somatic embryos _ (1) s wa
' @ Protoplasts (2) vy
Pollens ' (3) =am
(4) Callus

(4) =u=ns N SARNG dan

Rﬁ_BengalHEnglish ] | 31 [ Contd...
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41 |dentify the correct description about the given

figure:

(N

(@)
(3)

Water pollinated flowers showing stamens
with mucilaginous covering.
Cleistogamous flowers showing autogamy.
Compact inflorescence showing complete
autogamy.

Wind pollinated plant inflorescence showing
flowers with well exposed stamens.

142  Given below are two statements:
Statement I : In C; plants, some O, binds to
RuBisCO, hence CO, fixation is decreased.
Statement I1 : In C, plants, mesophyll cells show
very little photorespiration while bundle sheath
cells do not show photorespiration.
In the light of the above statements, choose the
correct answer from the options given below:
@ Both Statement I and Statement II are false

Statement I is true but Statement 11 is false
Statement I is false but Statement II is true
(4) Both Statement I and Statement II are true

143 Match List I with ListII

ListI List II
A. Robert May I. Species-Area
relationship
Alexandervon  II. Longterm
Humboldt ecosystem
experiment using
out door plots
C. Paul Ehrlich IMI. Global species
' diversity at about
_ 7 million
D. David Tilman IV. Rivet popper
hypothesis

Choose the correct answer from the options given

low:
@ A-III, B-1, C-1V, D-11
A-1, B-1II, C-I1, D-IV
(3) A-II, B-1V, C-11, D-1
(4) A-II, B-111, C-I, D-IV

R6_Bengali+English |

32

(41 e it (hof® stttk ati3s Praqal® e 4.

wrers11N) 51, M1 S PN ST Fod 201 ooy,
w41 SN4G ANDI

NI JATEBIE SeENRe e

el (e 190 s|os eI X1 =PI Samre $iq)
Ary s YR, spEEEn A0 eyl e
R AN VAT A Gl 1)

(M

(2)
(3)
4)
142 <Neo 5fS Pgfo s @nne=s
Prafs 1 : Cy ®ftwim, firg O, RuBisCO i q% 3,
gioad, CO, == g1 #6 =3l
Pl 11 2 Cy Sivwm, taistifieet @15 w4 9 1R
SCEAIFPIa B DA6 ARG 4N B9 (1001 51579
Qe F i B &1l
Gsitad A3l Ayima wutans s gns Praesty
(s Afds Yo Ridiee $4;
(1) fa3fs [ @3s A3l 11 ¥ewz ga
(2) fagfs [ A g RS 1l ga
(3) Fafs [ 9= g gl [ A=
(4) fugfo [ was it 11 Yew?s abs

143 oifsa 1 ag Jco aifes 11 s

oIt 1 it 11
A. Fdis L aenfo-rwe
o AR
B. @c$eieuid 1. 3EEeEN" 6t
wal FINEITS A4 Hrd AP
argowd fidiw
C. =131 udfde II. 153 &% (379
& by

D. wfew [Gerans IV. TS sst1d gt
Rt st Praesisf (e AR s Biisa
(1) A-III, B-I, C-1V, D-II
(2) A-1, B-II, C-II, D-1V
(3) A-III, B-1V, C-II, D-I
(4) A-Il, B-11, C-1, D-IV
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[nan ecosystem if the Net Primary Productivity’

144 1 Dp) of first trophic level is

100x (keal m2) }”'_] » What would be the GPP
(Gross Primary Productivity) of the third
trophic level pf the same ecosystem?

x (keal m™2) yr~!

@) 10x (keal m=2) !

100x (kcal m_z) yr_l
X

(€)

x =
@) m(kcafm ) yr
Which of the following statement is correct
regarding the process of replication in E.coli?
(1) The DNA dependent RNA polymerase
catalyses polymerization in one direction,
thatis 5° —>3°. -

The DNA dependent DNA polymerase
catalyses polymerization in 5° — 3’ as well
as 3’ > 5’ direction.

The DNA dependent DNA polymerase
catalyses polymerization in 5> — 3’ direction.
(4) The DNA dependent DNA polymerase
catalyses polymerization in one direction
that is 3’ —>5°. '

145

@)

146 Match List T with List I

ListI , ListII

A. Citric acid I, - Cytoplasm
cycle - _

B. Glycolysis II.  Mitochondrial

v matrix .

C. Electron III. Intermembrane
transport ~ spaceof °
system ' mitochondria

D. Proton IV. Inner .
gradient mitochondrial

membrane

Choose the correct answer from the options given

ow:
@ A-I1, B-1, C-1V, D-III
A-111, B-1V, C-1, D-1I
(3) A-1v, B-111, C-II, D-I
(4) A1, B-I1, C-I11, D-IV

N gpm)’ing sugarcane Crop with which of the

following plant growth regulators,

l of stem, thus, increasing thfa yield?
' Gibberellin (2) Cytokinin
Abscisic acid ~ (4) Auxin

Rﬁ‘-B“'BalHEnglish ]

increases the

33

144

145

146

‘D. catieE wgan

147

4 - EEed
EIET APPoIEd YA wFatdd 940 U

24 -1
Gastin (NPP) uiff 100x-(kcafm Yy~ =l

& Apgogd AN Wi JoUEd it APis YA

(GPP) @5 =4 ?

(1) x(keal m™2) yr!
(2
(3)

- -1
10x (kcal m 2y yr

100x
3x

(kcal m2) .V"_' I ‘

OF i—'(kcal m'z) yr_l

10
E.coli a4 sfofibBame sizs1i# Nt oAl e fa4is
& s1fsa? .
(1) DNA figa st RNA #fs am«wm@:{a
wiejaibe # waft aifeges 11 =4 57— 37|
DNA fRigas DNA stfaigEs azrsdiodE
oufBo $9G MRS ARA-ARD 5’37 @32
3’5’ wifgygyl _
DNA Bz DNA sfisiEe EEw e Ci R
oeuf®o 3t 5°— 37 wifexgual
DNA fq@asist DNA sifasitas aseeaaioge
SEite 3t e3ls wfsygey a1 = 3°— 5

@

3)

(C))

oifat 1 ug 7t o1t 11 s

eIt 1 ‘it 11
A. wiBMs oty 63 [ sBisieirer
B. siBiengtm IL  «EiemEsyy s
C. Ruwa@e Granstis [l wikisaiyy
fieen g L]

! V. wiZieisaiys eimsm
MG 873 TR (10 315 g AT, 19

(1) AL, B-I, C-IV, D-III

(2) A-In, B-1V, C-1, D-II

(3) A-1V, B-III, C-11, D-I

@) A, B-II, C-111, D-1V

N6 BH1 16 Bftwx ity réms‘om:ms oY T

A B A e o1 e e FA1m, ©IR
e Yty sy 9 )

(1) Pormiane (2) suBREBIHTRRE
Q) ok wniiy (4) eifdE '
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148

149

150

R6_Bengali+English |

Read the following statements and choose the set

of correct statements:
In the members of Phacophyceac,
A. Asexual reproduction occurs usually by

biflagellate zoospores.

B. Sexual reproduction is by oogamous method
only.

C. Stored food is in the form of carbohydrates
which is either mannitol or laminarin.

D. The major pigments found are chlorophyll
a, ¢ and carotenoids and xanthophyll.

E. . Vegetative cells have a cellulosic” wall,
usually covered on the outside by gelatinous
coating of algin.

Choose the correct answer from the options given

below:

(1) B,C,DandE only
A, C,D and E only

(3) A,B,CandE only

(4) A, B,CandD only

Match List I with List I
ListI List IT
A. Rose 1.  Twisted aestivation
B. Pea II. Perigynous flower
C. Cotton III. Drupe :
D. Mango IV. Marginal placentation
Choose the correct answer from the options given
below:
(1) A-LB-IL, C-I, D-IV
(2) A-IV, B-II, C-II, D-I

3) A-II, B-II, C-IV, D-I
A-IL, B-IV, C-I, D-IIT

Match List I with List II
List I
GLUT-4
Insulin
Trypsin

List II

Hormone

Enzyme
Intercellular
ground substance
Enables glucose
transport into cells
Choose the correct answer from the options given
below: ' :
(1) A-L B-II, C-III, D-IV

(2) A-II, B-II, C-1V, D-1

(3) A-lI, B-1V, C-1, D-lI

@ A-IV, B-I, C:11, D-111

A I
B. II.
C 118

Collagen Iv.

34

143

149

150
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A tmaneaa gt st

A.  sisiaes 56 wieert At gqustid saan mui
wretal st A

B. Qe sieafl =41 e 6na otz

C. sIfgo wimr SR A oS a1 anes mony
snfaifae P ansl

- D. a9 1A @R a, ¢ A SNy

_ w witeal e OHRao A

E. oiwensia oiEens Fie 1614, M AlAHA
Reretifet 3 @r=Pra =141 G A

s w1 Praesf (a0 Afds Tog Riiea #4:

(1) @ B,C,DantE -

(2) w@a= A, C,DwaasE

(3) ¥ A, B, CuatE

(4) @35 A,B,Caas D

ot | a3 a1 oI 1 er=m

siftr#r | eiftrer 11

LIRIg] I "pA0eY s 4@
. Wed . ~&3i® o

FI511A 1. =il g~
. @ IV. smia eI
Mo awa Tt i+ Toa fdiea 4
(1) A-l, B-IL, C-IMI, D-IV
(2) A-1V, B-IIL C-II, D-I
(3) A-IL, B-III, C-IV, D-I
(4) A-IL B-IV, C-I, D-III

Sow»

cifus 1 aa 7t e 11 @@

ot 1 et 11

GLUT-4 . =IwwE

‘éﬁaqﬁla II. Oswiss

fs1fda [1l. SN I

(Fre s IV. @1 =S
RIEE e
ARGl B

o0 wp

Mo a3 Pt (e s ITafb [ Als:
(1) A-lL B-II, C-II, D-IV
(2) A-II, B-III, C-1V, DI
(3) A-III, B-1V, C-1, D-l
(4) A-1V, B-, C-II, D-Il

| Contd...

13

| Pathfinder Educational Centre LLP, 47 Kalidas Patitundi Lane, Kalighat, Kolkata-26 & 033-2455 1840 /2454 4817 / 4668



/

=% PATHFINDER
Where Aspiration Meets Success

Test Booklet Code : R6

NEET-UG : 2024

Question with Solution

Date : 05.05.2024

N

Pathfinder Educational Centre LLP, 47 Kalidas Patitundi Lane, Kalighat, Kolkata-26 @& 033-2455 1840 / 2454 4817 / 4668 j




Test Booklet Code : R6 & PATH FNDER®

Question with Answer Key NEET-UG : 2024 Where Aspiration Meets Success
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Do not open this Test Booklet until you are asked to do so.

et enenm o @2 @i Yo =

Read carefully the Instructions on the Back Cover of this Test Booklet.

— | a2 #SrwreifEem orm o awe Rteat o SR i
!mpart(mr Instructions: GWQ“/ ﬁ?’r‘ﬂ?ﬁ} . ‘ s

1. The Answer Sheet is inside this Test Booklet. When vou Ty e e e T TR | THF IS A==l
are directed to open the Test Booklet, take out the Answer | 1 78 71 [EFE (SSE TS (7Sq =R | '

T
Test Booklet No
i@t sfkeeia et
BENGALI+ENGLISH

Sheet and fill in the particulars on ORIGINAL Copy s cxre v (rent 207, Soeeraf (3w I WS w3
carefully with blue/black ball point pen only. @g wre fRarRd T3 simene  afRHRR e wyww
2. The test is of 3 hours 20 minutes duration and the Test Booklet Ma/=wen 97 *w s == % G MERE A

contains 200 multiple-choice questions (four options
with a single correct answer) from Physics, Chemistry |2- #RPHTR TG 3wt 20 Muiina9e 30w o ot

and Biology (Botany and Zoology). 50 questions in TR €32 S Fme (S e mdifem) Rewe
each subject are divided into two Sections (A and B) 200 G wafResin uy wicm) (9ol o= Soa-7ifEe v Res

as per details given below : =rarR) wrETE fEm T e
(a) Section A shall consist of 35 (Thirty-five) Questions SRSA[TCHR), Pl = pY o, " ‘

in each subject (Question Nos - 1 to 35, ‘fﬁﬁ 8 (A 932 B)-9a S 1 W
61 to 85, 101 to 135 and 151 to 185). All questions (a) Yo A= a2z farg 35 6 ery (2rg w12e9m - 17373 35,
are compulsory. -

(b) Section B shall consist of 15 (Fifteen) questions in ull SHEF v ].Dlatﬂiwf RAREES SRy aa)
each subject (Question Nos — 36 to 50, 86 to 100, 136 TR | R X :
to 150 and 186 to 200). In Section B, a candidate (b) ¥e BT 2rerw’ fauey 16 i e (org Seam- 36 T2ta 50,
needs to attempt any 10 (Ten) questions out of 15 86 TITT 100, 136 TUTH 150 992 186 TAT 200) TCZ |

(Fifteen) in each subject.

Candidates are advised toread all 15 questions Y3 BzE, R S 15 6 27 cortes cueaes

in each subject of Section B before they start 10 5 erem Tan T firs =)

attempting the question paper. In the event of a * 3w Tewa Boot crew T (0 ojafETE SEa crewma LS

firat ton questions answered by the candidate | Y9 B¥ 72 15 2 o503 3% comn i s e

shall be evaluated. it wvea $ea o wrmes +ArwIdE 9| SRS daw wiih
3. Each question carries 4 marks. For each correct response, AT IR TR w0 A

the candidate will get 4 marks. For each incorrect |3 ofy s e 41 wrrers s B Saran wy ~Arw@

response, one mark will be deducted from the total ¥
scores. The maximum marks are 720. 4 TR LA ATEIS AR A SGLAA Tl | | o

4. Use Blue/Black Ball Point Pen only for writing =01 T | e == 720 | ,.
particulars on this page/marking responses on Answer |4 % PR Twred) AR @ STAEE T W P
Sheet. TGS elLr) e

5. Rough work is to be done in the space provided for this T2 TG T TLR IR I@ | .

‘purpose in the Test Booklet only. 5. WY T e FriTrs 1 2Te $a0s @ |

In case of any ambiguity in translation of any question. English version shall be treated as final.
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logy : Section-A"(Q. No. 151 10 185) ]
. Mateh List I with Lig( ] -

1 st = .
:‘sub PPhases of (L‘:;'nlnlr
N IC
Pu_-ophasp )] characters)
A. Dmkll]C{liIS I Syllﬂ[;lonemal
complex format;
p, Pachytenc L. CO'H[:)letion :igtlon
terminalisation of
chiasmata
C Zygotene 1. Chromosomes
' look like thin
threads
p. Leptotene IV. " Appearance of
recombination
nodules
Choose the correct answer from the options given
Wi
belo A-1, B-I1, C-IV, D-IIT
A-II, B-1V, C-1, D-1I
A-IV, B-IIL, C-1I, D-I
(4) A-1V, B-11, C-IIL, D-I
152 Consider the following statements :
A. Annelids are true coelomates

B. Poriferans are pseudocoelomates

C. Aschelminthes are acoelomates

D. Platyhelminthes are pseudocoelomates
Choose the correct answer from the options given

low :
Aonly (2) Conly
D only

(4) Bonly
153" Match List I with List IT :
List1
A. Pons

List IT '

I.  Provides additional
~ space for Neurons,
regulates posture
and balance.
Controls
respiration and
gastric secretions.
Connects different .
regions of the
brain.

Neuro secretory
cells _
Choose the correct answer from the options given

W
@3 AL B-IV, C-I1, D-I
A, B-III, C-11, D-IV
(3) AAI, B-I, C-III, D-IV
(4) A-I1, B-III, C-I. D-IV

154 Which of the following factors are favourable for
formation of oxyhaemoglobin in alveoli?
High pO, and Lesser H* concentration
G) g“’ P062 and High H* concentration
W pCO, and High temperature

B. Hypothalamus 1L

C. Medulla 111,

D. Cerebellum IV.

151 Gl |
LR TR .
Gt | tola "‘T"”‘T‘:; .
(Bwon] o ol
O (P
A opras ¥7) L)
. 12021 L suBamsiiwifme
B ] FAES A5
R I #nnemisE s
. GAE MAIPG
C. @R NI st Agee
EBILmesinad
I T3
D. wmiwita IV, sjaateafs o
Ritoa stansf caeh aifsa Wod Ridiver 54
(1) A-I, B-II, C-1V, D-III
(2) A-IL, B-IV, C-1, D-IlT
(3) A-1V, B-T, C-II, D-I
(4) A-1V, B-II, C-I11, D-I
' 152 Rrsa Rgfosf facasen a4

A, PRy wgE me 23 BEm g g
B.  sifywan gz =@ == Brer @ gl
C. @ fiEan =4 Meenafie @i
D. snftrmafieas za v Bieiagg @i

" Aieed Ppest as Afbs od [@rE J1:

(1) @A (2) ®w=C
(3) wa=sD 4) wa B
153 ot 1ad st oifa I e
offea 1 i 11
A. sEm ' I BYama oe
wifafyE saE d,
RETTl R RUE D
eIk
- frstget F3
B. =miBustrasEmms I =39 ads miss
w5dol fyEger Fid
C. e III. wfors ffe
' ST AL
- ¢SS sIsta e
- D, eIEEE IV. Rigwfiesi
@

Rits st Reestfit (it afds Iod Fidiea ¥4
(1) A-HI, B-IV, C-IL, D-1
(2) A-LB-I, C-I, DIV
(3) A-II, B-I, C-IIL, D-IV
(4) A-IL,B-lIL, C-L DIV
: G o -PxeIceie

) High PO, and High pCO,

R Ber .
~*1gali+English | 35

154 - poigid qiyafne gt blel
el gIio 3 ?
(1) o5 pO, wds HestOH H* cl:i e
(2) Rimt pCO, 9t o HY @i wee
(3) PrepCO, @t Wt VP!
(4) Ww pOy u vt pCO; |
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188 I;“”mfi"l“ are the stages of cell .
{*h Em" 2 phase B. Cytokinesis
- Sxanthesis phase Kar nkil'lCF-iS
L. Gap 1 phasce 3 D. Y
Choose the correct! dequence of stages
options given below:
E-B-D-A-C (33 (2) .B-D-E-A-C
E-C-A-D-B (57 4) C-E-D-A-B
156 Three types of musdles are given as a,

Identify the correctimatching p2
location in human body :

(@) ®) Z Ry

Name of muscle/location
(a) Skeletal - Triceps
(b) Smooth - Stomach
(c) Cardiac - Heart.
(a) Skeletal - Biceps
(b) Involuntaty - Intestine
(c) Smooth *Heart.

(a)

Involuntdry - Nose tip
(b)

(©)
(a)
(b) tal -
(c) Cardiac “'Heart.
157  Match List I with List II :

List I
Down’s syndrome |

2)

3)

“4)

List IT

A. )
B. a-Thalassemia ™ 1.
C. B-Thalassemia - I11.
D. Klinefelter’s IV.
syndrome ' . )
Choose the correct ghswer from the options given
below : ) _
1) A-II, B-11I, CglV, D-I
A-IIL, B-1V, (',H , D-II

A-IV, B-1, C-11, D-1II
(4) . A-1, B-1, c-mij D-IV

158 Which of the fﬁgjowing are Autoimmune

disorders?

A. Myasthenia é;‘dvis

B. Rheumatoid &ithritis
C. Gout LJi '
g. Muscular dysiophy

ions given below :
A, B & E only
C,D & E only

R6_Bengali+English |

division :

ir along with their

11th chromosome
‘X’ chromosome
215t chromosome
16th chromosome

Systemic Lupus Erythematosus (SLE)
Choose the most appropriate answer from the

(2) B,C&Eonly
(4) A,B&Donly

from the

b and c.

156

157

oo w>

158

frsarfibrenfan 28 [ZOE B ETE e F B VI ) £
Arst 2 AL

G R BRI Ll

seearst A1 fraeafha ma

EIELEIEI ]

st L g

Rited ety g A4 w-ae A A
(1) E-B—D?A-C}_‘.__ (2) B-&?Eéiw "
(3) E-C-A-D-B (4) C-E-D-A-B

Riewet ool 414 (5170 a. b 94e ¢ a4 5w Mol 54
MAAALE QU TPART A= AMSS AP BiA16 49 .

moOw>

(b)
AILHCA 10 [ SPar

(1) (a) oBans- RpNatestN

(b) =HerLstN - A1

(c) =isesi*N - AieBey

(a) oiRaestys R o1

(b) witetfozata - o

(c) mapetusrn ey

(a) oitstforp - i ol

(b) @iBawst =ik

(c) =isest ﬁ-_giei?{ay

(a) woperest N - AR

(b) wifbarstr - SARYE

(c) =gt - ey

aifti#1 1 a3 Aol [ tHes @

wiftar | 0 it 11
oide affo @rEma 1 110 @
o AT Rt (13 1. X ereansrs
B -t 451 L 215t @anan
s et () V. 16t @sesr
Gtel et it

fRyea Raaest sffel (A RiF+ o Ridied #4 2
(1) A-IL B-II1, C-1V, D-l

2) A-l, B-IV,.E-I-I, D-11

€3
€))

@)

3) A-1V, B-I, C-1l, D-III
(4) A-lL, Bl C‘L I, D-1V
Rigoa Grasfa oAl it
A, mEARiE gi_;i'f&m

B. R®&uisiy ﬂr!zﬂ'ﬂ.fﬁm

C. G 419 o
D.

o Fapld ?

Mgl 21§

E. Bidsis gl Rt
Rigsa stmonefR1 (atb AN LTINS
(1) e A, Buadt E (2) tbel B, C
3) tHe C, Due E (4) et AB

asmdepipt (SLE)

Wil 1S11bel B
wdtE

[CE D
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Given below are two statements : one js labelleq

159 as Assertion A and the other is labelled as 159t it gty s i 94 Proonf A a4
Reas : At w1 R
Reason R . N ' ‘ , .
Asscrtlon)\ 0 S'H acts,upon ovarian follicles in RImStnfe A : sGiniod Maanng i aae
female and Leydig cells in male. o s
ccasﬂn R: Gl’OWing P'Haria!l follicles secrete 1thiad R et dstd FSH Bran 4ol
Rstroge“ in female whil\éI interstitial cells secrete R : gLago Ao e Sute
e . : o
ndrogen mn male hl.ll'l'laﬂ‘l Pemg. WAL SEBRBI BG4 STYZL ANAGIA hede] Bl
a the light of the abovg statements, choose the Boaese FPeeteceeatd et B .
" ect answer from the options given below : _” e Prqflovaard outsiita fausd Praespf e ke
corf Both A and R are true but R is NOT the Yol Rrtivar #4:
» correct explanation oA, (1) Aa4sR 43 5 a1fb a4z R, A ad afha aneai e
is fa Y
A is true but R1s f;ﬁj}sc 0) Axfes g B grd
A is false but R 1s tt%le ' )
Both A and R are true and R is the correct (3) AgafgR ﬂfk-r?:r
' — : .
@ explanation of A. U (4) AcasRyAR b o R aat A @d 3154 45
; 128
iven below are tWo StE i_géments : el 160  Rits 9B Fefs o ol

60 GV 1. In the nephron, the descending limb L : 2 |
St:atem(’:ﬂltc I-ien le is impermeable to water and Pt | : erapteld taetella ofistd oIl 41 Raetsrih s,
of loop O Jectrolytes GLetd ST B! aai‘sfm Ritastar ACAGT (@1l

toe - ,
enneab:::tu : The proximal convoluted tubule frgfts 11 3 SAA1AS ARBIA ANG A4l F0T01RIA
ment II : ’%’ E ( ;
'Stalti';e‘l by simple 0 umna’ b; - bO"(}Er A-z18 yE o) Al ads @R g
15 : e surface area for e
epithelium and mcreasf_ss th oot Gt A4 ﬁ‘"‘k'
lon. X 4 eElE s w152
,-eabsorptlfznof the.abo % statements, choose the Woaa Rl syeRd ppjeies N uns R
In the llgh Sier from th p‘tions given be|0w ' A A W lemﬁafg?lﬁ‘l'.
ans .
mnegom Statement I El&d Statement lilafe 1(_fallss:;a (1) Pt | s P R
i *But. Statement I 1s 12 - _ B
(2 Stalemcﬂ:} :z tt‘:;see but Statement II is true (2) fagfe [ ol Py i 11 g=
Statemen _ _
8 Both Statement [ and Statement II are tru€ 3) Prfts | gt Pog Crafts 11 5155
3 2+ Rl GwaR A%
below are two stafements : one is labelled | (4) FfoTads ﬁif@{g 2
iven be ] : -

3 S;VAsscrtion A and thE other is labelled as. | ped )
Reason R ' .| 161 Rus giE G eGAT GRICR: w3l RrstnfFA adt
Assertion A : Breast-fééding during initial perlt?d et R Pt B0 1 RO :

; i » doctors for )
of nfant g];]owlt:]hus;zgaf?mended i R REA IO iy P aratal ST AIGNIE
bringing a healthy £ o g _ e s et gl
ReafﬂngR : Colostrum éontains several a““b"d_';s fsRbsaicas Rrset 1 e PP 69 0 2]

 absolutely essential to develop resistance for the v R o et fag OBy e ur'

new born baby. N ; iy ot i @i wll
el : tatements, choose the STt SIIENIO! f"?hf

In the light of the above state s 4 O et e oD

most appropriate answer from the options given T Rgfov ol 2

below : - ' . Goalt Rrisa #4: (O

() Boh A and R are(cérrect but RS HOL €52 1) Aw4tRy3R S aifBfhaqs R, A @3t oif3 b aspwitt <1y
correct cxplanaticﬁ%f A. (. A T

(2) Ais correct but RE¥ not correct. @) Ao Py R @98

3)_Ais not correct bt‘lﬂl is correct. (3) AgdPgR sifdab
@ E:I:llm a1.1d R ::_l: dbirect and R is the correct @) AR g 3 olfd it R Rel Awit 1B AN
anation of A.
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Match List Iwith List 11

162
List 1 List 11
A. Cocaine I.  Effective sedative in
surgery
B. Heroin 1. Cannabis sativa
C. Morphine 1. Erythroxylum
D. Marijuana V. Papaver sommiferum

Choose the correct answer from the options given

below :

() A-L B-lIl, C-II. D-IV

(2) A-II, B-1, C-I1L, D-IV
A-IIL, B-1V, C-1, D-II

(4) A-1V, B-III, C-1, D-1I

163 Match List I with List II :

List I List II
A. Ptérophyllum I.  Hag fish
B. Myxine II.  Saw fish
C. Pristis IlI. Angel fish
D. Exocoetus IV. Flying fish

Choose the correct answer from the options gwen

below :

A-ITI, B-1, C-II, D-IV
(2) A-IV, B-], C-II, D-III
(3) A-1I, B-1I, C-1, D-IV
(4) A, B-l, C-1II, D-IV

164 Match List I with List II :

ListI List II
A. Pleurobrachia I.  Mollusca
B. Radula. II. Ctenophora
C. Stomochord III. Osteichthyes
D. Airbladder IV. Hemichordata

Choose the correct answer from the options given

-below :

A-II, B-1, C-1V, D-1II
(2) A-II, B-1V, C-1, D-III
(3) A-1V, B-1I, C-II, D-I
(4) A-IV, B-I1, C-11II, D-I

165

on:

10t segment

11th segment 4) 5th segment

166 The flippers of the Penguins and Dolphins are

the example of the

(1) Natural selection
Convergent evolution
Divergent evolution

(4) Adaptive radiation

R6_Bengali+English |

In both sexes of cockroach, a pair of jointed
filamentous structures called anal cerci are present

- (2) 8t and 9t segment

38

162 et [ ad st o G1fian (] ey -
[N ETN ] "1”"-14&1 ]
A. Lo ettt heans Asta g,
A7
B. t=aiza I et e,
C. wnaflm 1. r?fd".(p;;.m;_',;"”

D. sufagsuen v,
fruba Prazstsf3 o1 31054 Bz Rraing "y
(1) A-lL B-III, C-II, D-1v
(2) A-IL B-I, C-III. D-Iv
(3) A-II, B-IV, C-I, D-Il
(4) A-1V, B-III, C-1, D-ll
163  oifet [ wa sicw eIt 1 s
oiftrst |
cSearmIZera (Prerophyllum) |,
Bifaa (Myxine) 1.
Prafesr (Pristis) M. =neres pe,
«eFHIRE7 (Exocoetus) IV. g any
Rreea stgensffr tata AfS Tod Riice 4 -
(1) A-I, B-I, C-II, D-IV
(2) A-1V, B-I, C-I1, D-III
(3) A-lI, B-II, C-1, D-IV
(4) A-ll, B-1, C-III, D-IV

SITEstrear I"Jf."lf.";';r;,.,ﬂ .

SIfReH )
A s

BAIG apy

D Oow»

164 iz 1wz st o1l 1T e -
oIftrsr 1 oIt 11
A. PBeidwie L e
B. angei Il S
C. vonamy . afssmzn
D. auiy sioa IV. afmdier

Rriea faessf (i 133 S Ridee a9
(1) A-II, B-I, C-1V, D-11I
(2) A-IIL, B-IV, C-I, D-II
(3) A-1V, B-III, C-II, D-1
(4) A-1V, B-II, C-1II, D-I

165  siasar @2 59 BHIECIEE DOIA AIR @PTSHYT IS0
HHAQ 5rel N1 oiietiel AIAM/ sBAG Al
(1) w3 4oy (2) SIS @ls P A
(3) aFAM wEy (4) stH ey
166  t1nfRet ads Getfieerd Bostia sy Pretlifbed St
(1) siplos Ridiee
(2) iy Face
(3) @t e
(4) wifuesa-bd Pl
| Contd...
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167 Which of the following statements is

(D M-os't commonly used bio-
stirring type.

Bio-reactors are used 1o produce sm
bacterial cultures.

3) Bio-reactors- have an agit
an oxygen delivery system an
system.

4) A bio-reactor provides optimal growth
conditions for achieving the desired product

incorree(?

all scale

ator system,
d foam control

168 dependent RNA polymerase to the given

template?

3’ TACATGGCAAATATCCATTCAS® ,
5’ AUGUAAAGUUUAUAGGUAAGU3’
5’AUGUACCGUUUAUAGGGAAGU3’

5’ ATGTACCGTTTATAGGTAAGT3’
@5 AUGUACCGUUUAUAGGUAAGU3’

ist I with List II :
169 Ma;..t‘i::tlfm : List II
- Fi joints I.  Adjacent
A" Fibrons vel:]tebrae, limited
movement
ilaginous II. Humerus and
B _ﬁ)?:t;lag Pectoral girdle,
rotational
movement
C. Hinge III. Skull, don’t
joints allow any
movement
D. Balland IV. Knee, help in
socket joints ‘locomotion

Choose the correct answer from the options given

below : :
() A-IL B-III, C-II, D-IV

A-IL, B-TII, C-1, D-IV
A, B-I, C-1V, D-II
A-IV, B-I1, C-I1I, D-I

170 Match List I with List IT :

List I List IT

A. «-1 antitrypsin I. Cotton bollworm

B. CrylAb II. ADA deficiency

C. CrylAc III. Emphysema

D. Enzyme IV. Corn borer
replacement
therapy

%?::3? the correct answer from the options given

AL, B-1, C-I1, D-IV
AL, B-IV, C.I, D11

(4 Al B-1V, C.1, Dy
) AL B, Cv Dy

Rﬁ___Bellga]iq.En glish ]

reactors are g I

which one is the correct product of DNA.

39

167ty e f1gitaf®s 311347

(D) 3ties ssaetarta 41550 NPyl o4 A1yl

UG 41 3B1nfde s14fts4
(2)

I AR BTN $g opogg N1
A-=mie |

iﬁ‘p‘“'ﬁfm MLzA Qb aifayey ey, qalt
OIS S siem 9, a2l o Paziga
BIe™ )
os R 5ot Yaspn U175 40044 (4%
MG g gfing NGNS Nigen uq1194
FYTH o amiey 4l

3)
C))

168 ﬁm RS =I5 Rl DNA g RN A
GRBIGIE Hfb Yo 16l 9

3 ’TACATGGCAAATATCC ATTCAS’

Y gm
) 5 AUGUACC

169 iR [ ug HLS BIfA#1 1] taeny -

BRI Gifer 11
A, ouun ARy . Rigwas
IIEHIAYR,
) N6 Beta
B. omeiBany sy II.  z©uiRa aae
GG WAr,
Horils Pybeta
C. 3o Alkyg L. =@, @Easg
fassial mgps1Bas
D. caita sifty IV, =%, a9 sy
364

fite amo PR (s wids Soa Riaea #a:
(1) A-L B-II, C-1I, D-IV
(2) A-IIL B-II1, C-I, D-IV
(3) A-II, B-I, C-IV, D-II
(4) A-IV, B-II, C-III, D-I

10 it 1 a3 sicen st 11 oenng -

oIftre 1 iRt 11
A.  o-l-SImnEsEsHe .  *% Fasna
B. CryIAb II.  ADA cofsBieafin
C. CrylAc I awsRemn
D. Ygwiss IV. =4 @
sfovarisieeid (41

oifiiat 1 va ot oifdst I tyss
(1) A-III, B-1, C-II, D-IV
(2) A-1I, B-1V, C-1, D-1
(3) A-IIL, B-1V, C-1, D-III
(4) A-II, B-1, C-1V, D-111
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171

172

173

174

175

{ ist Twith List 11 :
M sttt
1. Centriole
: .oneme I
g é::l’:ﬁml 1. Cilia and flagella
em
C gll'lllst'l 111. Chromosome
D. Satellite V. Mitochondria
Cho::\ec the correct answer from the options given
below

(1) A-IV. B-II C-1IL, D-1

rlli A-IL B-1V, C-1, D-III

A-Il. B-L, C-1V, D-III
AIVBHI C-II, D-1

Following are the stages of pathway for

conduction of an action potential through the

heart:

A. AV bundle B. Purkinje fibres

C. AV node D. Bundle branches

E. SAnode

Choose the correct sequence of pathway from the

B-D-E-C-A

options given below :
(1) A-E-C-B-D°

(3) E-A-D-B-C E-C-A-D-B

Given below are two statements :

Statement I : The presence or absence of hymen
is not a reliable indicator of virginity.

Statement I : The hymen is torn during the first
coitus only.

‘In the light of the above statements, choose the

correct answer from the options given below :
Both Statement I and Statement II are false
Statement I is true but Statement II is false
Statement I is false but Statement IT'is true

(4) Both Statement I and Statement II are true

Match List I with List I : -
ListI List IT
A. Common cold | Plasmodium
B. Haemozoin II.  Typhoid
C. Widal test II. Rhinoviruses
.D. Allergy IV.  Dust mites
Choose the correct answer from the options given
below :
A-l, B-1II, C-II, D-IV
A-III, B-I, C- II, D-IV
A-IV, B-II, C-III, D-I
(4) A-II B-IV, C-1I, D-I
Match List I with List II
ListI List IT
A. Typhoid I.  Fungus:
B. Leishmaniasis II. Nematode
C. Ringworm IMI. Protozoa
D. Filariasis IV. Bacteria
Choose the correct answer from the options given

ow
A-1V, B-III, C-1, D-II
A-IIL, B-1, C-1V, D-II

(3) A-II, B-1V, C-I1I, D-I

(4) A-I, B-III, C-II, D-IV

R6_Bengali+English )

40

171

A.
3.
C.
D. smis=4s

G1ffar | ad sieer @fsan [ onengy,

oiffrar |1 G1frs 11
A I 1311235

HiB-sB 8 155 1. 44311 aas wriea,
fer3l . taraesm

IV. i1y
fiesa staeliH o 234 Bad Rraner ag -

(1) A-1V, B-II, C-III. D-I
(2) A-IL B-1V. C-1. D-III
(3) A-II, B-1. C-IV, D-111
(4) A-IV, B-III, C-II, D-1
172 =eBewd feod il iBanfyea sifgasa suoag Aspogfy
. -
A. AVeez aiqewe B, Al o3 Ay
C. AV@Es D. arewterd s sz
E. SA@Ew
Rited Faests)ffl (s 5% sAcd 2151 @A Riegine
od .
(1) A-E-C-B-D (2) B-D-E-C-A
(3) E-A-D-B-C (4) E-C-A-D-B
173 Rus 55 4R o ey :
i 1 2 eiicezna SsiBalfl a1 oregsiBafs
osroElfEg st R a1l
4485 I1 : tiftiee=n gaw ENafee fast 25
et R3PS Aara SEns i gne Praestogfy
A% Foa Biies Ha:
(1) Fgfo [ aas H4fo 11 %wms ga
(2) faafe [ g PAEfs 1 ga
(3) fafs [ g= g faafs [l #fbs
(4) fagis | was Fafs [ Swms as
174 ©ifE 1 a3 s eifes 11 orEn
oiftrat 1 eiftrsr 11

A.  AAsEe A _ I. sIATHIG 7

B. Rararsnas II. ®Ewww

C. waEur &% M. aErEeRIm

' (Widal test)

D. @ IV. wIs Wss
e #ma FFesif (s A% o Riaisa 3
(1) A-l B-III, C-11, D-IV
2 A-Il'l, B-l, C-II, D-IV
(3) A-IV, B-1I, C-III, D-1
(4) A-, B-1V, C-II1, D-1

175 itz 1 wa st i 1 caeng:
oifar 1 oIt 11

A. BIEmay I. ey

B. ot I Reudi

C. fasusnw L enisiesnn

D. wiRgEfasihs IV.  ansish

Ritea Paesisffé cais 2134 Bod RIFIsa A
(1) A-IV, B-1II, C-1, D-11
(2) A-II, B-1, C-1V, D-1l
(3) A-II, B-1V, C-ll1, D-1
(4) A-l, B-llI, C-11, D-1V
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atch List 1 with List1T:
g6 My List 11
' oxpirato I.  Expiratory reserve
& Eqp}:lcily’y volume + Tidal
o volume +
Inspiratory reserve
volume
i Tidt lume +
2 onal 1L [l(l.!I Vo
B. Fm-lgllllf,] Expiratory reserve
res! ci‘t}’ volume
cqp“l cqpacity 1. Tidal volume +
c. Ve Inspiratory reserve
volume
: V. Expiratory reserve
D- Inspiratory volume + Residual
capacity volume |
Choose the correct answer from the options given
ho

176 wifhr | A 3t
Mboq o

@ity |
AL 13- ona Wy
A it ngy

A 1] Raggyey
"HT-'_'*,T I

1. s
LEC TIPS

RTINS AR R
A ey .
"1;1-“| ARy
BB R A TFT Qe
. | i R L E ALAPE
i C D Ang gy,
B [T At
C. A3 =naas @ I ‘:‘Rﬂ“ S
wIaIa ' ;th P
#1131 3}6?:? )
_ MOTax A1) aiy.
D. #~=na1 WAl Al V. Bz Mér:fﬂm
RetBIEBR ety
e T IE 1ic] s 'l

_ DA 13 AT
@16 swa FFesYfE (1 AF4 God iea a4
1) A-IL, B-IIC-IV, D-1 o
f A-II, B-1, C-1V, D-TII
A-lL, B-IIL, C-II, D-IV
54) A-I, B-1V, C-I, D-I1I
Riesd Gte =S RIRYGRAAPT AINE HOIMAG %74 o

pelow * V. D
- B"I]’ C I L)
(1) Q-HI’B-L C-1V, D-11I
(2) 47 g, C-1L DIV
A-Il B-IV: -1, D-111
i ill not affect
: fthe following factors Wi
o o
177 t\?glﬁg,dy-vvcin.berg equilibrium?
(1) Genetic drift
Gene mlgratlox;)o .
nstant gene PP,
@ gznetic recombination
i ith List IL:
s Match List W gisent
s se Peptide bond
' Il,ilup;ease Ester bpqd
" Protease . Glycosidic bond
¢. Ar,g lase IV. Phosphodiester bond
D'Choosg the correct answer from the options given
below 1y, B, C-1, DIV
A-ll, B-TV, C-I, D-
A-TV, B-1, c-111, D-1II
() AV, BL C-IIL, D-
179 Which of the following is not a component of
ian tube?
F]a)no})sﬁ]nms.s Infundibulum
(3) Ampulla (4)) Uterine fundus
180 Match List I with List I : ]
List I List IT
A. Non-medicated IUD I.  Multiload 375
B. Copper releasing [UD Il Progestogens
g. i—]onlnone releasing IUD  IIL Lip(%es loop
amplant IV. LNG-20
E;llﬁose the correct answer from the options given
w:
(1) A, B-IIL, C-IV, D-II
A-IV, B-1, C-II, D-III
A-l11, B-I, C-IV,, D-II
AL B-1, C-II, D-IV
R6 :
..Bengall+Eng|ish ] Al

7
4 (1) corifew Rrwo
(2) FReo IERI]
(3) v Al AT fRerets&l
4) FRasie1o ate
(78 oifisl [ ad st oI 11 et
oiftr#t 1 wiferst 11
A, @B SBIRT Fesidl
B. RioHEs [I. @14 9=
C. it [ =Ry Fee
D. wAIRES V. wAEIYIR @SB qeE
Riced sizelE (AP A3+ od Ried 9 :
1 A-II, B-II, C-L, D-IV
2y A-II, B-IV, C-I, D-III
3) A-IV, B-I, Cc-11, D-II .
4) A-1V, B-I1, C-11I, D-I
179 [fieed @1l wreEE fedrad o™ ax ?
(1) BaAAAd
(2) BewEfygEnd
(3) w@n=gal
S ¢ BE B4R PIYIH
g0 oifti#r 1ad st oifersn ITErEs :
oiftrat 1 oiftrer 11
A, Gaf-REde . wfeny 375
IUD .
B. orafiznge#El I scerEsseE
IUD
C. =zt wHAFE 1. faestar =
IUD '
D. Busines 1V. LNG-20
Rrisa Riaestof¥ (e s+ Tod 16 39
1) A-I, B-III, C-1V, D-II
2) A-1V, B-I, C-II, D-III
gi"; A-III, B-I, C-1V, D-II
4) A-III, B-1, C-II, D-IV
[ Contd...
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1 frhe following is not a steroid hormone?
151 W .:”L;‘-:Jli?:crmw (2) Prng‘ciTCT(‘-T‘-t‘
@ Glucagon (4) Cortisol
182 The following diagram showing restriction sites
in E.coli cloning vector pBR322. Find the role of
«y\"and ‘)7 genes:
EcoR1—-Clal _Hindm
\
Pvu Il
The gene ‘X is responsible for controlling
the copy number of the linked DNA and “}~
for protein involved in the replication of
Plasmid.

(2) The gene ‘X’ is for protein involved in
replication of Plasmid and ‘Y~ for resistance
to antibiotics.

(3) Gene ‘X" isresponsible for recognition sites
and ‘Y’ is responsible for antibiotic
resistance.

(4) The gene ‘X" is responsible for resistance to
antibiotics and ‘¥’ for protein involved in
the replication of Plasmid.

183 Which of the following is not a natural/traditional
contraceptive method? -

(1) Periodic abstinence

2) Lactational amenorrhea
Vaults
Coitus interruptus
184 Given below are some stages of human evolution.

Arrange them in correct sequence. (Past to

Recent)

A. Homo habilis

B. Homo sapiens

C.. Homo neanderthalensis

D. Homo ereclus

Choose the correct sequence of human evolution

from the options given below :

B-A-D-C (2) C-B-D-A
@ A-D-C-B (4) D-A-C-B
185 The “Ti plasmid” of Agrobacterium tumefaciens
stands for
@ Tumor independent plasmid
Tumor inducing plasmid
Temperature independent plasmid
(4) Tumour inhibiting plasmid

R6_Bengali+English | 42

Rrzrsg caral® SRLInT 5 drsng a3 0

ifi
T e L (2

(4)

el

(1)
(3)

S G s rrs

182  ©rsa Rt 3 w3 1R 24 pBR 3224 sponre,
T aae ¥ aq AT o A4

Ecor - CR [ Hind MM
1

Pl
Pst [

Pvu 1

‘X FeEtfS RPraam DNA a4 s1iUhst S0 Raggoeag
syAD gieEPeaE aaa6

(n
Gl gdr )
(1iGletd =il
X Fere T s fnn sRB i 4o 5ifey
el a4 1 ainiqrani®e stttdiag s wa
X fowtf® set1E sarietd @ralt mIl ade ) Paai
ainfesaanibs sibtdinag s=r wEnl

X Paal® emfidananiBa sibuaimd s mi
@qs ‘Y snafy BRI Ar4mo #ifeg

(2)
3
C)

el
Ritsd t1l®d H1fob/ bAiblHo ~MFTS st 47
(1) sfnfer 4fs
(2) yrffsataapil daztaa
3) @
(4) 4o jdo

183

2116 A< PIaGreta S-S s i aell vt 13
oigI(fae10 Lt 481 A1l
A, czesn anfAks
B. i oiBreaon
C.  ¢xieal Lreaeiezicere 3o
©D. &I ZeA-p6
Ritod et (10 Add B3 [1A1bel Sk
(1) B-A-D-C (2) C-B-D-A
(3) A-D-C-B (4) D-A-C-B

GIICEIANPCBENIN BeceFaDl  ad T Ti setioi e

184

185
qraxio [l
(1) [E@a >wag sepihv
(2) [B&uId sl IR
(3) W] g i
(4)  [B&Aa spate iy
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Match List [ with List11: . —2 20 ]

186 st .
A. RNA polymerasell I snRNPs
B. Termination of
transcription Il.  Promotor
c. Splicing of Exons L. Rho factor
p. TATA box IV. SnRNAs, (RNA

@}

187

188

189

Ré6 |

Choose the correctanswer from the options given

below
(1 A

11, B-1I, C-1V, D-I
I, B-1V, C-1, D-TI
ALV, B-III, C-1, D-II
AL B-1V, C-I, D-111

atalytic cycle of an enzyme action,

rrect sequential steps :
mplex formation.

to bind with another

Regarding ¢
select the €O
A. Substrate enzyme cO

B. Free enzyme ready

substrate.
Release of products. .
Chemical bonds of the substrate broken. -

_ Substrate binding to active site. Y
hoose the correct answer from the options given
(]) A: E’) B’ Ds C

B,A,C,D.E
(3) 'E,D,C,B,A E,A, D, C,B
ect statement given below
dullary nephron.
le of juxta medullary nephron
Jies in the outer portion of the renal medulla.
Loop of Henle of juxta medullary nephron
runs deep into medulla.
(3) Juxta medullary nephro
cortical nephrons.

(4) Juxtamedullary nep
columns of Bertini.

C.
D.
E
C
below :

Choose the corr

regarding_juxta me
) Renal corpusc

ns outnumber the

hrons are located in the

Given below are two statements * ,
Statement I': Mitochondria and chloroplasts are

both double membrane bound organelles.
Statement IT ; Inner membrane of mitochondria
is relatively less permeable, as compared to
chloroplast.
Inthelightofthe above statements, choosethe most
appropriate answer from the options given below:
(1) Both Statement I and Statement 11 are
Incorrect. _
(2) Statement I is correct but Statement Il is
incorrect. .
Statement 1 is incorrect but Statement 11 is
@ correct,
) BothStatement I and Statement 11 are correct.

43

186

187

188

189

IR
Fad 5z oy OIRIAL T t3teqyey

A.
B.

C.
D.

e

Gl |

RNA st |1 el
ffbﬂlv:ai a Ii SNRNPs
SIS g s SR LR
‘9{‘31!'7151{}'4 a2

T =R . Rh
TAT,‘\ q . 0%
> IV. SnRNAs.
tRNA

MNis sina I_:I'.F*‘Shlf‘ﬂ e AT TS Rtrmet 4
(1) A-III, B-I1, C-1V. DI =
(2) A‘]I[, B'lV, C_I,‘D-"
(3) A-IV, B-1II, C-1, D-II
(4)  A-IL, B-1V, C-1, D-III

H T S
_,,\I:.:F URBIGLN olefsitet blabd A Afba -

A, Iewies-tons wifter sl

B. 3% Iewios orstd (Mo e tenyana =g
Srelf HIHo|

C. “Gestet mrara gfel

D. e annsnis gee et sl

E. TemietFa A sate GNP Asss

=zl
Riebd Prests (0% #3% Toa RiAies w4
() AE,B,D,C (2) B,A,C,D,E
3) E,D,C,B,A (4 E,A,D,C,B
Gt Ay e A= Riied Afes el Rieiea
F4l : '
(1) wien crgard e swatifona 30 g8
eawrEnE Afgg St v FtEl
wrriT ey iepteid el S (et KEiel
fargo AT
G13Bl (NGE) (elEpErd FHn H[BP1el (SHteld
Heulll OICHHl OiEd (4N
Giaiel PG e ARl ore SR

@

)

el

Rite g Al el SR
frgfs | @ MBTDI= P @3 A5 TONR fasial

AR S|

- PaRoIT : @ICAI=IEo Gotel il RIRIBIFYIE oAz

St IFould #7 (@all
Weirad gl AWRT SRS b A Prap=srs
(e Hide o b “
(1) s a4z R [ Swng gel
(2) Pigfs 1ol g R 1 gl
(3) Frfs | et P Pl 12113+
(4) Frfts | wae Pigqfds 11 9eiR IR
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190 Given below are two statements :
Slfllc‘mcu[ I : Gausc's competitive exclusion
principle states that two closcly related species
competing for different resources cannot cxist
indefinitely.
Statement 11 : According to Gause's principle,
duringcompetition. the inferior will be eliminated.
This may be true if resources are limiting.
In the light of the above statements, choose the
correct answer from the options given below :
(1) Both Statement I and Statement Il are false.
) Statement I is true but Statement Il is false.
Statement | is false but Statement Il is true.
Both Statement 1 and Statement 11 are true.
191 The following are the statements about non-
chordates :
A. Pharynx is perforated by gill slits.
B. Notochord is absent.
C. Central nervous system is dorsal.
D. Heart is dorsal if present.
E. Postanal tail is absent.
Choose the most appropriate answer from the
options given below :

(1) A,B&Donly B, D & E only
(3) B,C &Donly A & Conly
192 Match List I with ListIT :
ListI List II
A. Exophthalmic I.  Excess secretion of
goiter cortisol, moon face &
hyperglycemia
B. Acromegaly II. Hypo-secretion
of thyroid hormone
and stunted growth.
C. Cushing’s III. Hyper secretion
syndrome of thyroid hormone &
- protruding eye balls.
D. Cretinism IV. Excessive secretion

) ~ of growth hormone.
Choose the correct answer from the options given

below : .
(1) A-IV, B-II, C-1, D-III

A-ITL, B-1V, C-1, D-I
A-IIL B-IV, C-1, D-II
A-1, B-I1I, C-II, D-IV

193 Match List I with List IT :

List I List IT
A. Mesozoic Era 1. Lower invertebrates
B. Proterozoic Era 1I. Fish & Amphibia
C. Cenozoic Era 1. Birds & Reptiles
D. Paleozoic Era - IV. Mammals

Choose the correct answer from the options given

below :
(1) A-IIL, B-I, C-II, D-IV

A-l, B-11, C-IV, D-III
A-]Hs B']v C'W, D-II
A-ll, B-1, C-lII, D-1vV

R6_Bengali+English | | 44

190 Pt it Pegits v e
a4t 1 2 Gause ad BiGLUAGIYAS AR Ty,
Atat 21 5f8 PAAB Srs1b3fm s1mifts 20141 et flacnt spay,
walt $14%s14 MG Grar AffRA1 b5 21y 4,
Prafts 11 : Gause ad fieam sz, '
SfENPIGI4 HIE 259 HIA SR AT o)
FsuAd Fgils Hasa oA b HAT Pigssn,
Larea AfsH Yom Paisa a4 !
(1) Prafs [ a4: P 113, g
(2) PR [ 913 g Fefs 1T g=
(3) fu4fs | get Fpy MG 1T 7155
(4) Fafo [ aas Pl [1%was 5+

aol-#LUB o Rited faqisyf =4 ¢

191
A, weifia geidl-faa ANEe
B. @nisi#y sieHkns
C. @aa =yog o0
D. =micBiey BsBas ai#ta s{o51H
"E. sty #448) ssx weHpao
Mies gwa Papesisfs (AT A5 T Bidie Fo;
(1) w=asA,Bea:D (2) == B,Dua4:E
(3) w@=sB,Cea:D (4) e=st Aa4:C
192 wifti#r [ ad st wifds! [ taeg :
eIt 1 eIt 11
A, atanE s [. #iBAEE afds S0,
s cal$fo P 94:
: wEBAETEE R
B. ewi@casE 1.  ar34iEe 96aeEE
olg23Rde] @4s 4fhy
=T 6
C. gfafe I WHAEG ZICAIE
G151 o163 oy sHde1 Qe
&% LIEEE FfG
D. @idbRiema STV, e mEcsnEd silE

A
A mna fFessffE (AtH 5% Tow fSiiee 4
A-TV, B-11, C-I, D-III
(2) A-III, B-1V, C-II, D-I
(3) A-IIl, B-1V, C-1, D-II
4) A-IL B-IIL, C-11, D-IV

193 ot 1 wd sewe oifft 1 e

eIt 1 wifEt 11
A.  cawsiE . Frenpitd
IEE ] DA AYR
B. caiericenig II. wea § Yusd
LB
C. PRreentenfis o= L. =158 © AN
D. snfeendie oo (V. soetrsiaN

Ricea Piaeste i (e sifFs Yot Rrisa B
(1) A-IlI, B-I, C-I1, D-1V

(2) A-lL B-II, C-1Vv, D-111

3) A-II, B-l, C-1V, D-11 .

(4) Al B-1, C-1Il, D-1V. N
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Test Booklet Code : R6
Question with Answer Key

NEET-UG : 2024

PATHFINDER

Where Aspiration Meets Success

n Match List I with List I1: List 11 194 ofar | 0q o it 1 e
19 List | Salivary gland @iy | SR
A Unicellular glandular 1. Salivary glands A. MMM i 1P 1
. T, : a1 ) .
= "hcml]'::(li cpithelium 1. Pancreas . A pen g

B. Cnmpo‘l“ ~ 1. Goblet eells of B. o WMASNAa

C. Multice n.‘-,imclinm alimentary canal C. AZ4tM Al et
nlnlldlll,"r,"I,]-mdular IV. Moist surlace of w1y : P (e P N,

D ‘:l‘l{iOC".li1L1&- B buccal cavity D @!’J.":rr-n - A

e n . ' y - S5 aferny et
Ch'g::,:gfllll:‘:o"“t answer from the options given NS V. mmaias ey
belo™ o g1, C-1. D-1I Fln)sa;dw'%ﬂ}rrim el t
-1V, B-lils 270 =1V, B-III. C-I, D-11 a
,/:-Ill. B-1V, C-1, D-11 (2) A-IL, B-1V, C-I. D1
AL DL g:]\l’ g':{} (3) A-IL B-I, C-IV, D11
|1, B-L, C-1II, D- (4) A-IL, B-L, C-IIL, D-IV
ON i stem, the blood
5 As per AB? ebrl?s?% r(r)I;]cist]l:‘tfgl' ?_ZA* and child is | 195 -ABO _aﬁf?m:ﬂﬂ‘"m' f"ﬁ!ﬁgﬂmw% B*. mo= A+
19 group of fath tive ’ enotype ¢an be . CEH ﬂagg.cw /9 AT (SIS S At
O. Their respective & g IBIB/IAIA /i A. IBi/IAi/ii B. IBB/IAA /5
A Iﬁig}ﬂ,{}‘lsi D. IAi/IBi/14 C. 1”};13/ iIA/ 1% D. IAi/IBi/ 1A
COAP /g ' E. iIB/ilA/IAI
i flllAlgéstl appropriate answer from the N ana Paests]fé (1 155 I3 Riioa w4
Choose the I : (1) 4 B (2) == Caa: B
optiogs gl]v;n below : C & B only (3) @@ DuaatE (4) w@==A
(1) Bon 8 Aonly ] _ .
(3) D& E only - “) 4 to digestive system 196  omvnea GRS owe i eIt | ag Ar
¢ Match List I with List I relate oifa 11 Grely frat 11
19 kroach. it TI I oIfr

oc : List oIS

Of:,istl I Gizzard 551f® wirar ABCHA fiis [ Pronw
A. The structures usﬁd ' o ;msﬂfﬂw CICIRCER II. st i

" for storing of food. II. Gastric B. el

ing of 6-8 blind Caeca warslfEes dleld Al

= Sl?ugles at junction 0 —— saze1 TP 6-8 B wiol
i t. <1 .
foregut and midgu 1. Malpighian aifapIae 54 )

C. ng Ode?hoi;Il 50 yellow II tubulfes C. wunsies G IRCER 1L Ti!:_,df‘}‘(i?.'imlﬁ!
?'?ﬁluéﬁts at junction of C O spplq (IR Al SILETERL
n:idgut and i“dgué' Iv. Crop 'mmmwc; 391'3""‘:?

tures use : -150 &5 =en Ftels
D_' {'El}egf_?;]l:ﬁng the food'er from the Op‘[ions giVEH . ;?(25" WQ elﬁig
Choose the correct answ D. stsail® wimr consors wenr IV, @1
: ; F4:
belo\’j\-. [ B-I, C-IIL, DIV Aoz R (0F Af>+ &od Rrarea
@A ey
A-ITL B C-1V, D- (2) A-1V, B-LI, C-1, -
A-1V, B-1I, C-111, D-1 3) A-II, B-1I, C-1V, D-1
: _IV, B-1I, C-11I, D-I
1 G below are OSSN pig | () ATGETL CL D
Eg;:ﬂigre all blood cells including lymphocytes | 197 fg&ﬁms& mm?,. EG ﬂﬂl;l’ frrY AT I ATF
are produced. d thymus - o g% a1 Fesi= =3l
. Both bone marrow and thy RitspisilZE R AFe
ﬁ:::?ﬁ%}cg CHVimnmerll‘lts for the development Praftsll: T-Ricsp1aRi0H sFavipder a3 sai?ﬁwi:ﬂa' Lol
i s ocyltes. = 2 Il $d
ﬁ?&ﬁgﬁ;ﬁ?&l ggvggtnal:em e?ltt_s, choose tltl)z igaff gﬁzﬁ;g;zz:ﬂa?g ::’f c:‘ﬁ“;sa sns Pasestyfé
i from the options given : 4 4
?Ffrogg?ﬁeg?:g%ent_l andpStatement IT are (e A5 A fémbg ;‘%‘w A
i . . faqfs [ @t 149 R e
(v3) Tsntg?grmegtm I is correct but Statement II is 8; f’q;ﬂﬁ I i g Rl [ ger
Incorrect. : i s [ A=
is i t Statement IT is (3) Pl [ga g g
3) Eﬁggént I 1Is incorrect bu b Pl ] s Bl [ Sww® s
Both Statement I and Statement [1 are correct. .
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Test Booklet Code : R6

Question with Answer Key

NEET-UG : 2024

PA'I'HFNDERE

Where Aspiration Meets Success

198 Si\'cn below are two statements : 198 P gl faogfts ez s
Statement 1 : The cerebral hemispheres are i T oA e T BT E i
connected by nerve tract known as corpus Prffs 1z f corfiaeien o ’T‘ 16 SIYAT BN Sty
callosum. MeLNFAAG, b AN AN Alef]
Statement 11 : The brain stem consists of the PRl 11 ¢ ABo™ D% LI A tiB, srgm
medulla oblongata. pons and cerebrum. A A qEors sadr Aol
In the light of the above statements, choose the ’ ; ‘ ) .
most appropriate answer from the options given Gorad Pl AR ANANS N 47T Prarapy
below : e A Tod e Fa
(1) Both Sttatement 1 and Statement II are (1) Piafts [ ase Pl [ Grwrais gt
incorrect.
@ §tatement I is correct but Statement Il is (2) faafs 1 515 g P 11 ga
N 1Sncorrect. . e — (3) Fafs [ gt g Ffo 1T 515+
tatement | 1s incorrect but Statement 11 18
( correct. l oo (4) P [ a4 Fagfs 11 %ww3 afs+
4 ect.
( ) Both Statement I and Statement 11 are corr | Bl AR B AN (B [0
199 Identify the correct option (A), (B), (C), (D) with (D) ~az Fl
respect to spermatogenesis.
S Gk
| : | I— :
LH @) & @
! | v :
e
Androgens Factors _ Andrfgens Faitors
1 \) ” :
f tids
Formation of spermatids ®) Formation of sperma D)
(1) ICSH, Interstitial cells, Leydig cells, (1) ICSH, Riorafoftet i, RiRvt i,
spermiogenesis. . '
(2) FSH, Sertoli cells, Leydig cells, IR
spermatogenesis. _ (2) FSH, sndef @9, Rifys @, sstaisimsie o
(3) ICSH, Leydig cells, Sertoli cells, (3) ICSH, RiRy=t 1=, iR s, sstrafiiBiceicaiio
' spermatogenesis. ) :
F%eH, Leydig cells, Sertoli cells, (4) FSH, Rift @13, 1808 @13, sufiocsian
) BPELIICRIHESS 200 i 1ad et oo 1 o
200 Match List I with ListIl: eiftrst 1 eifrs 11
List I List II A. Poaw . st ofyeso @it
A. Pwave - 1. Heart muscles are o
electrically silent. Mad
B. QRScomplex I Depolarisation of B. QRS- &P Il Rrexsead oo
: ventricles. oo s
. g 4G
C. Twave MI. Depolarisation of C. T o3 IIL wiftranyfa R
_ atria. D. T-Pemisi IV. FEsess
D. T-Pgap IV. Repolarisation of spetzorAcel
ventricles. ] o
Choose the correct answer from the options given Ritga st (e afds Tod fisa
below : ) (1) A-IIL, B-II, C-1V, D-I
A-II1, B-11, C-IV, D-1 L B-IIL, C-1, D-IV
p A T g OO u\:'BB 1L, C-1, D-1II
(3) AV, B, C-I, D-lI P @Radv, Bl EL e
(4) A-lL B, C-IV, D-II (4) A-L, B-IlI, C-1V, D-ll
R6_Bengali+English | 46 [ Contd..
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